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	 1- 	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk lwfp;ksa ds 
uhps fn;s x;s dwV ls lgh mÙkj pqfu;s

	 	 lwph&I		 lwph&II

		  (ouLifr çdkj)		 ({ks=k) 

	 A.	 ekDoh	 1- 	dSfyiQksfuZ;k

	 B.	 fiaQcl	 2-	Hkweè;lkxj ds 
	 	 	 	rVh; {ks=k

	 C. 	pSijsy	 3- 	nf{k.kh vÚhdk

	 D. 	eSVksjsy	 4- 	fpyh

	 	dwV%
	 		  A	 B	 C	 D
	 (a) 		  2 	 3 	 1	 4
	 (b)		  4	 3	 2	 1
	 (c)		  3	 4	 1	 2
 	 (d) 		  4 	 2 	 3	 1

	 2-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk lwfp;ksa ds 
uhps fn;s x;s dwV ls lgh mÙkj pqfu;s%

	 	 lwph&I		 lwph&II

		  (ns'k)		 (jkt/kuh)

	 A.	 mTcsfdLrku	 1- 	rk'kdan

	 B. 	rkftfdLrku	 2- 	nq'kkUcs

	 C. 	fdfxZLrku	 3-	fc'dsd

	 D- 	rqdZesfuLrku	 4- 	v'xkckr

		 dwV%
			   A	 B	 C	 D
	 (a)		  1 	 2	 3	 4
	 (b) 		  1	 2	 4	 3
	 (c)		  1	 3	 4	 2
	 (d) 		  1	 4	 2 	 3

	 3- 	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk lwfp;ksa ds 
uhps fn;s x;s dwV ls lgh mÙkj pqfu;sA

	 	 lwph&I		 lwph&II

		  (çkÑfrd ouLifr)		 ({ks=k) 

	 A. 	vf/thoh ouLifr	 1- 	Hkweè;lkxjh;

	 B. 	ccwy	 2- 	Hkweè;js•h;

	 C. 	cSvksckc	 3- 	lgkjk 

	 D. 	nsonkj	 4- 	lokuk

		 dwV%
			   A	 B	 C	 D
	 (a)		  2	 3 	 4	 1
	 (b) 		  2 	 3	 1	 4
	 (c)		  2 	 4	 3	 1
	 (d) 		  2 	 4 	 1 	 3

	 1. 	Match List-I with List-II and select the correct 
answer using the codes given below the lists:

	 	 List-I		  List - II 
		  (Vegetation Type) 		  (Region)
	 A. 	 Maquis	 1.	 California
	 B. 	 Fynbus	 2.	� Mediterranean Sea 

Coastal Region
	 C. 	 Chaparral	 3. 	South Africa
	 D. 	 Matorral	 4. 	Chile
	 Codes:
	 		  A	 B	 C	 D
	 (a) 		  2 	 3 	 1	 4
	 (b)		  4	 3	 2	 1
	 (c)		  3	 4	 1	 2
 	 (d) 		  4 	 2 	 3	 1
	 2. 	Match List-I with List-II and select the correct 

answer using the codes given below the lists:
		  List-I		  List-II 
		  (Country)		  (Capital)
	 A.	 Uzbekistan	 1. 	Tashkent
	 B. 	 Tajikistan	 2. 	Dushanbe
	 C. 	 Kyrgyzstan	 3. 	Bishkek
	 D. 	 Turkmenistan	 4. 	Ashgabat
	 Codes:
			   A	 B	 C	 D
	 (a)		  1 	 2	 3	 4
	 (b) 		  1	 2	 4	 3
	 (c)		  1	 3	 4	 2
	 (d) 		  1	 4	 2 	 3
	 3. 	Match List-I with List-II and select the correct 

answer using the codes given below the lists:
	 	 List-1		  List-II
		  (Natural Vegetation)		  (Region)
	 A. 	 Epiphytes	 1. 	Mediterranean
	 B. 	 Acacia	 2. 	Equatorial
	 C. 	 Buobab	 3. 	Sahara
	 D. 	 Cedars	 4. 	Savanna
	 Codes:
			   A	 B	 C	 D
	 (a)		  2	 3 	 4	 1
	 (b) 		  2 	 3	 1	 4
	 (c)		  2 	 4	 3	 1
	 (d) 		  2 	 4 	 1 	 3
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	 4- 	fuEufyf•r esa ls dkSu&lk lgh lqesfyr ugha gS\
	 	 (tutkfr)		 (LFkku)

	 (a)	 fiXeh	 	dkaxks csflu

	 (b)	 vaxkeh	 	ukxkySaM

	 (c)	 ,suq	 	tkiku

	 (d) 	fdjf?kt	 	lwMku

	 5- 	uhps nks dFku fn;s x;s gSa ftuesa ,d dks dFku 	
(A) rFkk nwljs dks dkj.k (R) dgk x;k gSA

	 	dFku (A): fgUn egklkxj dbZ cM+h 'kfDr;ksa dk lSU; 
vîók cu x;k gSA

	 	dkj.k (R): fgUn egklkxj ls fudVorhZ ns'kksa dks 
HkkSxksfyd&jktuhfrd ykHk gSA

	 	uhps fn;s dwVksa esa ls lgh mÙkj dk p;u dhft;s%
		 dwV% 
	 (a)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa rFkk 

dkj.k (R) dFku (A) dh lgh O;k[;k djrk gS

	 (b)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa ijUrq 
dkj.k (R) dFku (A) dh lgh O;k[;k ugha gS 

	 (c)	 dFku (A) lgh gS] fdarq dkj.k (R) xyr gS 

	 (d)	 dFku (A) xyr gS] fdarq dkj.k (R) lgh gS

	 6- 	eè; Hkkjr esa fLFkr igkfM+;ksa dk if'pe ls iwoZ 
fuEufyf•r esa ls dkSu&lk ,d lgh Øe gS\

	 (a)	 eSdky] lriqM+k] egknso vkSj NksVkukxiqj

	 (b)	 lriqM+k] egknso] eSdky vkSj NksVkukxiqj

	 (c)	 eSdky] egknso] lriqM+k vkSj NksVkukxiqj

	 (d)	 lriqM+k] egknso] NksVkukxiqj vkSj eSdky

	 7- 	uhps nks dFku fn;s x;s gSa ftuesa ,d dks dFku (A)
rFkk nwljs dks dkj.k (R) dgk x;k gSA

	 	dFku (A)% Hkkjr esa lokZf/d la?kurk okyk Hkwdaih; 
{ks=k fgeky; {ks=k esa fLFkr gSA

	 	dkj.k (R)% fgeky; esa dbZ vuqnSè;Z mRØe nso 
vifLFkr gS

	 	dwV%
	 (a)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa rFkk 

dkj.k (R) dFku (A) dh lgh O;k[;k djrk gS

	 (b)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa ijarq 
dkj.k (R) dFku (A) 	dh lgh O;k[;k ugha gS 

	 (c)	 dFku (A) lgh gS] fdarq dkj.k (R) xyr gS

	 (d)	 dFku (A)	 xyr gS] fdarq dkj.k (R) lgh gS

	 8-	ef.kiqj igkfM+;ksa ls f?kjk ^baiQky csflu* ,d lqnj 
mngkj.k gS

	 (a)	 ljksojh; eSnku dk	 (b) 	yks;l eSnku dk

	 (c)	 fgeunh; eSnku dk	 (d) 	tyks<+ eSnku dk

	 4. 	Which of the following is NOT correctly matched?
		  (Tribel)		  (Place)
	 (a) 	 Pygmy		  Congo busin
	 (b) 	 Angami		  Nagaland
	 (c) 	 Ainu		  Japan
	 (d) 	 Khirghiz		  Sudan
	 5. 	Given below are two statements, one is labelled as 

Assertion (A) and the other us Reason (R).
	 	 Assertion (A): Indian Ocean has become the 

Military bases of many big powers.
	 	 Reason (R): There is strong geo-political benefits 

in Indian Ocean and adjacent countries.
		  Select the correct answer from the codes given 

below: Codes:
	 (a) 	 Both (A) and (R) are true and (R) is the 

correct explanation of (A).
	 (b) 	 Both (A) and (R) are true, but (R) is not the 

correct explanation of (A)
 	 (c)	 (A) is true, but (R) is false
	 (d)	 (A) is false. but (R) is true The
	 6.	 Which one of the following is the correct sequence 

of the hills of Central India locured from West to 
East"?

	 (a) 	 Maikal, Satpura, Mahadeo and Chhotanagpur 
	 (b) 	 Satpura, Mahadeo, Maikal and Chhotunagpur
	 (c) 	 Maikal, Mahadeo, Satpura and Chhatanagpur
	 (d) 		 Satpura, Mahadeo, Chhotanagpur and 

Maikal
	 7. 	Given below are two statements, one is labelled as 

Assertion (A) and the other as Reason (R). 
Assertion (A): The highest concentration of 
Seismic zones lies in Himalayan region in India. 
Reason (R): There are many longitudinal thrust 
zones in Himalayas.

		  Codes:
	 (a) 	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b) 	 Both (A) and (R) are true, but (R) is not the 

correct explanation of (A) 
	 (c) 	 (A) is truc, but (R) is false
	 (d) 	 (A) is false, but (R) is true
	 8.	 'Imphal Basin' surrounded by Manipur hills is fine 

example of
	 (a)	 Lacustrine plain
 	 (b) 	 Loess plain
	 (c)	 Glacial plain
	 (d) 	 Alluvial plain 
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	 9- 	fuEufyf•r ufn;ksa esa ls dkSu&lk vius Hkza'k ?kkVh çokg 
ds fy;s çfl¼ gS\

	 (a)	 pacy	 (b)	 nkeksnj

	 (c)	 xaMd	 (d)	 jkexaxk

	10- 	fuEufyf•r çkÑfrd çns'k esa ls fdls cM+s f'kdkjksa dh 
Hkwfe ds uke ls tkuk tkrk gS\

	 (a) 	'khrks".k ?kkl dk eSnku

	 (b)	 m".kdfVca/h; ekulwu çns'k

	 (c)	 m".k jsfxLrku çns'k

	 (d)	 m".kdfVca/h; lokuk çns'k

	11-	fgeky; ioZr Js.kh ds laca/ esa fuEufyf•r esa ls 
dkSu&lk dFku lgh gS@gSa

	 1-	 eq[; fgeky; dh ijrnkj pêðkus thok'e ghu 
gSA

	 2-	 y?kq fgeky; dh ijrnkj pêðkuksa esa leqæh 
tho&tarqvksa ds thok'e feyrs gSaA

	 3-	 cká fgeky; ;k f'kokfyd fgeky; esa ekuo 
lH;rk ds vo'ks"k feys gSaA 

	 	uhps fn;s gq, dwV esa ls lgh mÙkj pqfu,
	 	dwV%
	 (a) 	dsoy 1 vkSj 2	 (b) 	dsoy 2 vkSj 3 

	 (c) 	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3 lgh gSa

	 12- 	uhps nks dFku fn;s x, gSa ftuesa ,d dks dFku (A) 
vkSj nwljs dks dkj.k (R) dgk x;k gSA 

	 	dFku (A): vdcj us 'ksj'kkg dh rjg jkT; ds flDdks 
ds çpyu dks fu;fer djus dk ç;kl fd;kA

	 	dkj.k (R): 'ksj'kkg dh eqæk i¼fr ds leku vdcj 
ds le; dk rkez dk çeq• flDdk nke FkkA

	 	uhps fn;s dwVksa esa ls lgh mÙkj dk p;u dhft;s%
	 	dwV%
	 (a)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa rFkk 

dkj.k (R) dFku (A) dh lgh O;k[;k djrk gS

	 (b)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa ijUrq 
dkj.k (R) dFku (A) dh lgh O;k[;k ugha gS 

	 (c)	 dFku (A) lgh gS] fdarq dkj.k (R) xyr gS

	 (d)	 dFku (A) xyr gS] fdarq dkj.k (R) lgh gS

	13- 	fuEufyf•r ;q¼ksa dks dkykuqØe esa O;ofLFkr dhft;s 
vkSj uhps fn;s dwVksa esa ls lgh mÙkj pqfu,

	 I-	 lukay dk ;q¼ 	 II.	fcyxzke dk ;q¼

	 III.	 /jer dk ;q¼ 	 IV.	ttkÅ dk ;q¼

	 	dwV%
	 (a) 	 II, I, III, IV	 (b) 	II, III, IV, I 
	 (c) 	 III, II, I, IV 	 (d) 	III, I, II, IV

	 9. 	Which of the following rivers is famous for its fault 
valley drainage?

	 (a) 	 Chambal	 (b) 	Damodar
	 (c) 	 Gandak	 (d) 	Ramaganga
	 10. 	Which one of the following natural regions is 

known as "Land of Big Games"
	 (a) 	 Temperate Grassland 
	 (b) 	 Tropical Monsoon Region
	 (c) 	 Hot Desert Region
	 (d) 	 Tropical Savanna Region
	 11. 	With reference to the Himalayan range, which of 

the statements is/are correct? 
	 1. 	 The sedimentary rocks of the greater 

Himalayas were fossil less.
	 2. 	 Marine livings fossils are found in the 

sedimentary rocks of lesser Himalayas.
	 3.	 Remains of human civilization are found in 

outer or Shivalik Himalayas.
		  Select the correct answer using the codes given 

below: 
		  Codes:
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (e)	 1 and 3 only	 (d)	 1, 2 and 3 are correct
	 12. 	Given below are two statements, une labelled as 

Assertion (A) and the other as Reason (R).
		  Assertion (A): Akbar. like Shershah. tried to 

regulate the currency of the state.
	 	 Reason (R): As in Shershah's currency, the chief 

copper coin of Akbar's time was the Dam
		  Select the correct answer from the codes given 

below
		  Codes:
	 (a) 	 Both (A) and (R) are true and (R) is the 

correct explanation of (A) 
	 (b) 	 Both (A) and (R) are true, but (R) is not the 

correct explanation of (A) 
	 (c) 	 (A) is true, but (R) is false
	 (d) 	 (A) is false, but (R) is true
	 13. 	Arrange the following battles in chronological 

order and select the correct answer from the codes 
given below:

	 I. 	 Battle of Sarnul	 II. 	Battle of Bilgram 
	 III. 	 Battle of Dharmat	 IV. 	Baule of Jajau
		  Codes: 
	 (a) 	 II, I, III, IV	 (b) 	II, III, IV, I 
	 (c) 	 III, II, I, IV 	 (d) 	III, I, II, IV
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	14-	gB ;ksx ds lanHkZ esa fuEufyf•r esa ls dkSu&lk dFku 
lgh gS@gS\

	 	1- 	gB ;ksx ukFkiafFk;ksa }kjk viuk;k tkrk FkkA

	 	2- 	gB ;ksx fØ;k dks lwiQh larks us Hkh viuk;k FkkA

	 	uhps fn;s gq, dwV esa ls lgh mÙkj pqfu,

	 	dwV %

	 (a) 	dsoy 1	 (b)	 dsoy 2 

	 (c) 	1 vkSj 2 nksuksa	 (d)	 u rks vkSj u gh 2

	15- 	fuEufyf•r esa ls dkSu&lh ,d fof'k"Vrk ̂ bDrk O;oLFkk* 
dh ugha gS\

	 (a) 	bDrk ,d jktLo ,df=kr djus dh O;oLFkk Fkh 

	 (b)	 fl;klrukek bDrk O;oLFkk dh tkudkjh dk lzksr 
Fkk

	 (c)	 bDrk esa ,df=kr jktLo lh/k lqYrku ds •krs 
esa tkrh Fkh

	 (d)	 eqDrh dks bDrk ls ,df=kr jktLo ls lSfud j•us 
iM+rs Fks

	 16-	fuEufyf•r esa ls dkSu&lk lgh lqesfyr ugha gS \

	 	 (iqLrdsa)		 (ys•d)

	 (a)	 rcdkr&,&ukfljh	 	feugkt&ml&fljkt
	 	 	 	&tltkuh

	 (b)	 rkjh[k&,&fiQjkst'kkgh	 	'kEe&,&fljkt 
	 	 	 	&viQhiQ

	 (c)	 rqxydukek 	 	bCu crwrk

	 (d)	 gqek;w¡ukek	 	xqycnu csxe

	17- 	̂usfVo eSfjt ,DV* fdl o"kZ ikfjr fd;k x;k Fkk\
	 (a)	 1870	 (b)	 1872

	 (c)	 1874	 (d)	 1876

	18- 	lwph&I dks lwph&II es lqesfyr dhft;s vkSj lwfp;ksa ds 
uhps fn;s dwVksa esa ls lgh mÙkj pqfu,

	 	 lwph&I   		 lwph&II

		  (vkanksyu)	 	(o"kZ) 

	 	 A. ikcuk	 1- 	1855&56

		  B. ,dk	 2- 	1873&85

	 	 C. la/kr	 3- 	1922

	 	 D. rkuk Hkxr	 4-	1914

	 	dwV%
			   A	 B	 C	 D
	 (a) 		  1 	 2 	 4 	 3
	 (b) 		  2 	 3 	 1 	 4
	 (c) 		  3 	 1	 4	 2
	 (d) 		  4 	 3 	 2	 1

	 14. 	With reference to Hath Yog, which of the following 
statement is/are correct?

	 1. 	 Hath Yog was practiced by Nathpanthis.
	 2. 	 Hath Yug technique was also adopted by the 

Sufis.
		  Select the correct answer using the endes given 

below: 
		  Codes:
	 (a) 	 1 only	  (b) 	2 only
	 (c) 	 Both 1 and 2	 (d) 	Neither 1 nor 2
	 15. 	Which one of the following is NOT  the 

characteristics of Iqta System?
	 (a)	 Iqta was a revenue collection system 
	 (b)	 Siyasatnama was the source of information 

for Iqta System 
	 (c)	 Revenue frum Iqta was directly deposited 

in Sultan's account
	 (d)	 Muqti was supported to maintain troops out 

of the revenue collected from Iqta
	 16.	 Which of the following is NOT correctly matched?
		  (Books)		  (Writers)
	 (a) 	 Tabaqat-i-Nasiri		  Minhaj-us-
				    Siraj-Juzjani
	 (b) 	 Turikh-i-Firozshahi 		  Shams-i-Siruj-Alif
	 (c) 	 Tughlaqnama		  Ibn Battuta
	 (d) 	 Humayunnama		  Gulbadan Begam
	 17. 	In which year was the 'Native Marriage Act' 

passed?
	 (a) 	 1870	 (b) 	1872
	 (c) 	 1874	 (d) 	1876
	 18. 	Match List-I with List-II and select the correct 

answer using the codes given below the lists:
		  List-I		  List-II
		  (Movement)		  (Year)
	 A. 	 Pabna	 1. 	1855-56
	 B. 	 Eka	 2. 	1873-85
	 C. 	 Santhal	 3. 	1922
	 D. 	 Tana Bhagat	 4. 	1914
		  Codes:
			   A	 B	 C	 D
	 (a) 		  1 	 2 	 4 	 3
	 (b) 		  2 	 3 	 1 	 4
	 (c) 		  3 	 1	 4	 2
	 (d) 		  4 	 3 	 2	 1
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	19- 	fuEufyf•r esa ls dkSu&lk lg lqesfyr ugha gS\
	 	 (?kVuk)		  (o"kZ)

	 (a)	 Hkkjrh; tylsuk vf/fu;e	 1977

	 (b)	 lfou; voKk vkanksyu	 	 1930 

	 (c)	 f}rh; xksyest vf/os'ku		 1931

	 (d)	 lkaçnkf;d fu.kZ;	 	 1933

	20-	fuEu ?kVukvksa dks dkykuqØe esa O;ofLFkr dhft;s vkSj 
uhps fn;s dwVksa esa ls lgh mÙkj pqfu,%

	 I. 	lkbeu vk;ksx dh fu;qfDr

	 II. 	tfy;k¡okyk ckx gR;kdk.M

	 III. 	egkRek xka/h dh Mk.Mh ;k=kk

	 IV. 	fiQjkst'kkg esgrk dh e`R;q

	 	dwV%
	 (a) 		  IV, 	 II, 	 I,	  III 
	 (b) 		  I, 	 II, 	 IV, 	 III
	 (c) 		  II, 	 III, 	 IV,	 I
	 (d) 		  IV, 	 III, 	 II, 	 I

	21-	vkbZ-,u-,- ds vf/dkfj;ksa ij eqdnek pyk;k x;k Fkk 
	 (a) 	yky fdyk] fnYyh esa

	 (b)	 Xokfy;j iQksVZ esa

	 (c)	 vkesj iQksVZ] t;iqj esa

	 (d)	 vkxjk iQksVZ esa 

	22-	uhps nks dFku fn;s x, gSa ftuesa ,d dks dFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA 

	 	dFku (A) % caxky dh ,f'k;kfVd lkslkbVh dh LFkkiuk 
ckjsu gsfLVaXl ds dky esa gqbZ Fkh vkSj mlus lj fofy;e 
tksUl ds i{k esa mDr fo}r laLFkk dh vè;{krk dk 
çLrko vLohdkj dj fn;k FkkA

	 	dkj.k (R): okjsu gsfLVaXl Lo;a ,d mn~HkV fo}ku rFkk 
çkP; fo|k dk ç•j leFkZd Fkk tks laLÑr] iQkjlh o 
vjch ds vè;;u dks çksRlkfgr djrk FkkA

	 	uhps fn;s dwVksa esa ls lgh mÙkj pqfu,
	 	dwV%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R) dFku (A) 

dh lgh O;k[;k gS

	 (b)	 (A) vkSj (R) nksuksa lgh gSa ijUrq (R) dFku (A) 
dh lgh O;k[;k ugha gS

	 (c)	 (A) lgh gS] fdarq (R) xyr gS

	 (d)	 (A) xyr gS] fdarq (R) lgh gS

	23- 	jk"Vªh; iapkax ds laca/ esa dkSu&lk@ls dFku lgh gS@gSa\
	 1- 	Hkkjrh; jk"Vªh; iapkax foØe laor~ ij vk/kfjr 

gSA 

	 2- 	jk"Vªh; iapkax dks tuojh 26] 1950 ls viuk;k 
x;k gSA

	 19. 	Which of the following is NOT correctly matched?
	 	 (Event)		  (Year)
	 (a) 	 Indian Navy Act		  1927
	 (b) 	 Civil Disobedience		  1930 
		  Movement	
	 (c) 	 Second Round Table		  1931 
		  Conference	
	 (d) 	 The Communal Award		  1933
	 20. 	Arrange the following events in a chronological 

order and select the correct answer from the codes 
given below: 

	 I.	 Appointment of Simon Commission
	 II.	 Jallianwala Bagh Massacre
	 III. 	 Mahatma Gandhi's Dandi March
	 IV. 	 Death of Ferozshah Mehta
		  Codes:
	 (a) 		  IV, 	 II, 	 I,	  III 
	 (b) 		  I, 	 II, 	 IV, 	 III
	 (c) 		  II, 	 III, 	 IV,	 I
	 (d) 		  IV, 	 III, 	 II, 	 I
	 21 	The trial of the Officers of the I.N.A. was held in 
	 (a) 	 Red Fort, Delhi 	 (b) 	Gwalior Fort 
	 (c) 	 Amer Fort, Jalpur 	 (d) 	Agra Fort
	 22. 	Given below are two statements, one is labelled as 

Assertion (A) and the other as Reason (R). 
		  Assertion (A): The Asiatic Society of Bengal was 

established in the period of Warren Hastings and 
he modestly declined the offer of Presidentship of 
that learned body in favour of Sir William Jones.

		  Reason (R): Warren Hastings was himself a great 
scholar and an ardent orientalist who used to 
encourage the study of Sanskrit, Persian and 
Ambic.

		  Select the correct answer from the codes given 
below:

		  Codes:
	 (a) 	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b) 	 Both (A) and (R) are true, but (R) is not the 

correct explanation of (A)
	 (c) 	 (A) is true, but (R) is false 
	 (d) 	 (A) la falso, but (R) is true
	 23	 With reference to the National Calendar, which of 

the statements are correct? 
	 1. 	 The National Calendar of India is based on 

Vikram Fra. 
	 2. 	 The National Calendar is adopted from 

January 26. 1950. 
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	 	uhps fn;s x, dwV dh lgk;rk ls lgh mÙkj pqfu,%
	 (a) 	dsoy 1	 (b)	 dsoy 2

	 (c) 	1 vkSj 2 nksuksa 	 (d)	 u rks 1 vkSj u gh 2

	24- 	fdl o"kZ esa ,dkmafVax dks vkWfMfVax (ys•k ijh{kk) ls 
vyx fd;k x;k rFkk fu;a=kd ,oa egkys•k ijh{kd 
dk dk;Z dsoy ljdkjh ys•k rd lhfer jg x;k\

	 (a)	 1975	 (b)	 1977

	 (c) 	 1976	 (d)	 1981

	25- 	Hkkjr esa fu;ksftr fodkl dk fojks/ fdlus fd;k 
	 (a) 	egkRek xka/h	 (b)	 tokgjyky usg:

	 (c)	 bafnjk xka/h	 (d)	 jktho xka/h

	26- 	uhps nks dFku fn;s x, gSa ftuesa ,d dks dFku 	
(A) rFkk nwljs dks dkj.k (R) dgk x;k gSA 

	 	dFku (A): Hkkjrh; lafo/ku dk vuqPNsn 30 vYil[;d 
oxZ 'kCn dks ifjHkkf"kr ugha djrk gSA

	 	dkj.k (R): lafo/ku dsoy Hkk"kkbZ vkSj /kfeZd 
vYila[;d oxZ dks ekU;rk çnku djrk gSA

	 	uhps fn;s x, dwVksa esa ls lgh mÙkj pqfu,%
	 	dwV% 
	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R) dFku (A) 

dh lgh O;k[;k gS

	 (b)	 (A) vkSj (R) nksuksa lgh gSa ijUrq (R) dFku (A) 
dh lgh O;k[;k ugha gS 

	 (c)	 (A) lgh gS] fdarq (R) xyr gS 

	 (d)	 (A) xyr gS] fdarq (R) lgh gS

	27-	Hkkjrh; la?kkRed O;oLFkk ds lanHkZ esa fuEufyf•r esa 
ls dkSu&lk dFku lgh gS@gSa\

	 1- 	Hkkjrh; lafo/ku ds varxZr jkT;ksa dks la?k ls 
vyx gksus dk vf/dkj ugha gSA 

	 2- 	vyx gksus dh ek=k odkyr djus ij vfHkO;fDr 
dh Lora=krk dh lqj{kk feysxhA 

	 	uhps fn;s gq, dwVksa esa ls lgh mÙkj dk pquko dhft;s
	 (a) 	dsoy 1	

	 (b) 	dsoy 2 

	 (c) 	1 vkSj 2 nksuksa	

	 (d) 	u rks 1 vkSj u gh 2

	28- 	fuEufyf•r esa ls dkSu&lk lgh lqesfyr ugha gS\ 
	 (a) 	lkoZtfud LokLF;	 	jkT; lwph 
	 	 ,oa LoPNrk	 	

	 (b) 	tux.kuk	 	la?k lwph

	 (c) 	jkT; lHkk esa lhVksa	 	f}rh; vuqlwph 
	 	 dk c¡Vokjk 

	 (d) 	nycny fojks/	 	nloha vuqlwph

		  Select the correct answer using the codes given 
below. 

	 (a) 	 1 only 	 (b)	 2 only 
	 (c)	 Both 1 and 2 	 (d) 	Neither nor 2
	 24 	In which year was accounting separated from 

auditing and Comptroller and Auditor General's 
task only remained confined to auditing the 
Government Accounts? 

	 (a) 	 1975	 (b) 	1977
	 (c)	 1976	 (d)	 1981
	 25. 	Who opposed Planned Development in India"
	 (a)	 Mahatma Gandhi 	 (b) 	Jawaharlal Nehru 
	 (c) 	 Indira Gandhi	 (d)	 Rajiv Gandhi
	 26. 	Given below are two statements, one is labelled as 

Assertion (a) and the other as Reason (R). 
	 	 Assertion (A): Article 30 of the Constitution of 

India does not define the term 'minorities". 
		  Reason (R): The Constitution recognises only 

linguistic and religious minorities.
		  Select the correct answer from the codes given 

below: 
		  Codes:
	 (a)	 Both (a) and (R) are true and (R) is the 

correct explanation of (a)
	 (b) 	 Both (a) and (R) are true bus (R) is not the 

correct explanation of (A)
	 (c)	 (a)	 is true, but (R) is false
	 (d)	 (a) 	is false, but (R) is true
	 27. 	With reference to the federal system in India, which 

of the statements is/are correct?
	 1. 	 States have no right to secede from the Union 

under the Constitution of India.
	 2. 	 Just advocacy of secession will have the 

protection of freedom of expression.
		  Select the correct answer from the codes given 

below:
	 (a)	 1 only	 (b) 	2 only
	 (c) 	 Both 1 and 2	 (d) 	Neither I nor 2
	 28. 	Which of the following is NOT correctly matched? 
	 (a) 	 Public Health and 		  State List
		  Sanitation
	 (b) 	 Census		  Union List
	 (c)	 Allocation of seals in		  Second
		  the Council of States		  Schedule
	 (d)	 Anti-Defection		  Tenth Schedule
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	29- 	Hkkjr ds lafo/ku dh 11oha vuqlwph esa fdrus fo"k; 
gS

	 (a)	 22	 (b)	 24

	 (c) 	29	 (d)	 32

	30- 	ç/kuea=kh dk;kZy; (ih-,e-vks-) ds laca/ esa fuEufyf•r 
esa ls dkSu&lk dFku lR; gS@gSa\

	 1-	 ;g 1977 esa vfLrRo esa vk;kA 

	 2-	 bldk ç/ku dSfcusV lfpo gksrk gSA

	 	uhps fn;s x, dwV ls lgh mÙkj pqfu,
	 	dwV% 
	 (a)	 dsoy 2

	 (b)	 1 vkSj 2 nksuksa

	 (c)	 dsoy 1

	 (d)	 u rks 1 vkSj u gh 2

	31- 	Hkkjrh; lafo/ku dh NBh vuqlwph ds çko/ku 
fuEufyf•r esa ls fdl jkT; esa ykxw gksrs gSa\

	 (a) 	f=kiqjk	 (b)	 flfDde

	 (c) 	ukxkySaM	 (d)	 mijksDr lHkh

	32- 	fuEukafdr esa ls dkSu&lk lgh lqesfyr ugha gS\
	 (a)	 canh çR;{khdj.k	 	Vw gSo fn ckWMh vkWiQ

	 (b)	 ijekns'k	 	oh dekaM

	 (c) 	 çfr"ks/ 	 	Vw ch lfVZiQkbM

	 (d)	 vf/dkji`PNk	 	ckbZ OgkV vkWFkksfjfV

	33-	/u fo/s;d Hkkjr ds lafo/ku ds fdl vuqPNsn esa 
ifjHkkf"kr fd;k x;k gS\

	 (a) 	vuqPNsn 109 	 (b) 	vuqPNsn 110

	 (c) 	vuqPNsn 111 	 (d)	 vuqPNsn 112

	34- 	flracj 2019 esa ç/kuea=kh eksnh }kjk m‌n~?kkVu lhek ikj 
rsy ikbiykbu fuEufyf•r esa ls fdu nks 'kgjksa dks 
tksM+rh gS\

	 (a) 	eksrhgkjh rFkk vkeys•xat

	 (b) 	njHkaxk rFkk vkeys•xat 

	 (c) 	eksrhgkjh rFkk dkBekaMw

	 (d) 	buesa ls dksbZ ugha

	35- 	;wusLdks fo'o /jksgj lfefr }kjk blds fdl 'kgj esa 
laiUu gq, 43osa l=k esa t;iqj dks /jksgj LFkku ds :i 
esa lwphc¼ fd;k x;k gS\

	 (a)	 ckdw (v”kjcStku) 	 (b)	fc'dsd (fdfxZLrku) 

	 (c)	 bLrkacqy (rqdhZ)	 (d)	ekjds'k (eksjDdks)

	36- 	vkbZ-,e-,iQ- ds uo fu;qDr çca/ funs'kd gSa

	 (a)	 fØLVkfyuk tkWthZok 	 (b)	 fØLVhu ySxkMZ

	 (c)	 j?kqjke jktu	 (d)	 lqjthr HkYyk

	 29. 	How many items are there in the 11th Schedule of 
the Constitution of India?

	 (a)	 22	 (b)	 24
	 (c)	 29	 (d)	 32
	 30.	 With reference to Prime Minister's Office (PMO) 

which one of the statements is/are correct?
	 1. 	 It came into existence in 1977.
	 2. 	 It is headed by the Cabinet Secretary.
		  Select the correct answer from the codes given 

below:
		  Codes: 
	 (a) 	 Only 2	 (b) 	Both 1 and 2
	 (c) 	 Only 1	 (d) 	Neither I nor 2
	 31. 	The provisions of the sixth Schedule of Indian 

Constitution are applicable in which of the 
following states?

	 (a) 	 Tripura 	 (b) 	Sikkim
	 (c) 	 Nagaland	 (d)	 All of the above
	 32. 	Which of the following is NOT correctly mulched?
	 (a) 	 Habeas corpus		  'To have the body 
				    of'
	 (b) 	 Mandamus		  'We command'
	 (c) 	 Prohibition		  'To be certified'
	 (d) 	 Quo-warranto 		  'By what authority'
	 33. 	The Money Bill is defined in which Article of the 

Constitution of India?
	 (a) 	 Article 109	 (b) 	Article 110
	 (c) 	 Article 111	 (d) 	Article 112
	 34. 	Cross border oil pipeline inaugurated by P.M. Modi 

in September 2019 connects which of the following 
cities?

	 (a) 	 Motihari and Amlekhganj
	 (b) 	 Darbhanga and Amlekhganj
	 (c) 	 Motihari and Kathmandu 
	 (d) 	 None of these
	 35.	 Jaipur was listed as 'World Heritage Site by the 

UNESCO World Heritage Committee in its 43rd 
Session held in the city

	 (a) 	 Baku (Azerbaizan)
	 (b)	 Bishkek (Kyrgyzstan) 
	 (c) 	 Istanbul (Turkey)
	 (d)	 Marakesh (Morocco)
	 36.	 The newly appointed Managing Director of IM.F. 

is
	 (a) 	 Kristalina Georgieva
	 (b)	 Christine Lugarde
	 (c) 	 Raghuram Rajan
	 (d)	 Surjit Bhalla
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	37-	Hkkjr ljdkj }kjk vDVwcj 10] 2019 dks çfrHkk'kkyh 
cPpksa ds dkS'ky le`f¼ ds çksRlkgu gsrq çkjaHk fd;k 
x;k jk"Vªh; dk;ZØe gS

	 (a)	 y{;	 (b)	 çfrHkk 
	 (e) 	èkzqo	 (d)	 ifjorZu
	38- 	lwph&I dh lwph&II ls lqesfyr dhft;s vkSj lwfp;ksa ds 

uhps fn;s dwVksa ls lgh mÙkj pqfu,%
		  lwph&I 		 lwph&II
	 A,	 FkkWel dqd	 1-	Hkkjr&Hkkjrh lEeku 

	 	 	 	ds fotsrk

	 B.	 xzsVk FkuoxZ	 2- 	gk¡x dk¡x ds usrk

	 C. 	MkW- m"kk fdju	 3 	i;kZoj.k dk;ZdrkZ

	 D. 	dSjh ySe	 4-	fczfV'k Vwj ,oa 

	 	 	 	Vªsosy daiuh

	 	dwV%
			   A	 B	 C	 D
	 (a) 		  1 	 2	 3	 4
	 (b) 		  4 	 2	 3 	 1
	 (c) 		  1	 3 	 4 	 2
	 (d) 		  4 	 3	 1	 2
	39-	o"kZ 2019 vFkZ'kkL=k dk ukscy iqjLdkj nwljh ckj fdlh 

efgyk dks fn;k x;kA bl iqjLdkj ls lEekfur gksus 
okyh çFke efgyk dkSu Fkh\

	 (a)	 bZLFkj MiQyks 	 (b)	esVhZ Fksjslk dksjh

	 (c)	 ekfj;k tksiVZ	 (d)	,fyukj vksLVªkWe

	40- 	flracj 2019 esa ty 'kfDr ea=kky; }kjk çkjaHk dh xbZ 
xzkeh.k LoPNrk j.kuhfr fuEu esa ls fdl vof/ ls 
lacaf/r gS\

	 (a) 	 2019–2035	 (b) 	2019–2029
	 (c) 	 2019–2022	 (d) 	2019–2024
	41- 	Hkkjrh; Hkk"kkvksa dk dsUæh; laLFkku fuEufyf•r esa ls 

fdl LFkku ij vofLFkr gS\
	 (a)	 okjk.klh	 (b)	eSlwj
	 (c)	 ubZ fnYyh	 (d)	f'keyk

	42- 	Hkkjr }kjk Hkwfe {kj.k rVLFkrk çkIr djus dk y{; j•k 
x;k gS 

	 (a)	 2025 rd	 (b)	 2030 rd

	 (c)	 2035 rd	 (d)	2040 rd

	43-	paæ;ku&2 varfj{k ;ku dks ç{ksfir djus ds fy;s buds 
}kjk fdl ft;ksflaØksul mixzg ç{ksi.k ;ku dk ç;ksx 
fd;k x;k Fkk\

	 (a) 	 GSLV – MK-III – M1
	 (b) 	 GSLV – MK-II – M2
	 (c) 	 GSLV – MK-IV – M8
	 (d) 	 GSLV – MK-V – M4

	 37. 	The National Programme launched on October 10. 
2019 by the Indian Government to encourage 
talented children to enrich their skills is 

	 (a) 	 LAKSHYA	 (b) 	PRATIBHA
	 (c) 	 DHRUV	 (d) 	PARIVARTAN
	 38. 	March List-I with List-II and select the correct 

answer from the codes given below the lists
		  List-I		  List-II
	 A.	 Thomas Cook	 1.	� Recipient of Bharat 

Bharati Award 
	 B. 	 Greta Thunberg	 2.	 Hong Kong Leader
	 C. 	 Dr. Usha Kiran	 3. 	�Environmental 

Activist
	 D. 	 Currie Lam	 4.	 British Tour and 
				    Travel Company
	 Codes:
			   A	 B	 C	 D
	 (a) 		  1	 2	 3	 1
	 (b) 		  4	 2	 3 	 4
	 (c) 		  1	 3 	 4 	 2
	 (d) 		  4	 3	 1	 2
	 39. 	The 2019 Nobel Prize for Economics was given 

lu Ewoman for the second time, nume the first 
woman who was earlier awarded this prize.

	 (a) 	 Esther Dutto	 (b) 	Gerty Theresa Cori
	 (c) 	 Maria Goeppert	 (d) 	Elinar Ostrom
	 40. 	Rural Sanitation Strategy launched by Ministry of 

Jal Shakti in September 2019 relates to which of 
the following periods?

	 (a) 	 2019-2035	 (b)	 2019-2029 
	 (c) 	 2019-2022	 (d) 	2019-2024
	 41. 	Central Institute of Indian Languages is located at 

which of the following places?
	 (a) 	 Varanasi	 (b) 	Mysore
	 (c) 	 New Delhi	 (d) 	Shimla
	 42. 	India aims to achieve land degradation neutrality 

by the year 
	 (a) 	 2025 	 (b) 	2030
	 (c) 	 2035	 (d) 	2040
	 43.	 Which Geosynchronous Satellite I.aunch Vehicle 

was used by ISRO to launch Chandrayaan-2 space 
craft?

	 (a) 	 GSLV – MK III - M1
	 (b) 	 GSLV – MK II - M2
	 (c) 	 GSLV – MK IV - M8
	 (d) 	 GSLV – MK V - M4
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	44-	Hkkjr ds lcls cM+s pj•s ds lanHkZ esa fuEufyf•r esa 
ls dkSu&lk dFku lgh gS@gSa\

	 1- 	bldk mn~?kkVu uks,Mk esa gqvkA

	 2- 	;g mi;ksx fd;s gq;s IykfLVd dpjs ls cuk gSA

	 	uhps fn;s dwV esa ls lgh mÙkj pqfu,%
	 	dwV%
	 (a) 	dsoy 2	 (b)	 dsoy 2

	 (c)	 1 rFkk 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	45-	fuEufyf•r esa ls fdl tho dk jDr liQsn gksuk gS
	 (a) 	fNidyh 	 (b) 	rypêðk

	 (c) 	 ?kjsyw •Vey	 (d)	 ePNj

	46-	ukbVªkstu fLFkjhdj.k thok.kq fdl ikS/s dh tM+ ds lkFk 
la;kstu djrs gSa

	 (a) 	nkysa	 (b)	 pkoy

	 (c) 	xsgw¡	 (d)	 xUuk

	47-	tc fdlh lkcqu ds cqycqys dks vkosf'kr fd;k tkrk 
gS] rks fuEu esa ls D;k ?kfVr gksrk gS\

	 (a) 	f=kT;k c<+ tkrh gS 

	 (b) 	f=kT;k ?kV tkrh gS

	 (c) 	cqycqys dk yksi gks tkrk 

	 (d) 	mijksDr esa ls dksbZ ugha

	48-	fuEukafdr esa ls dkSu&lk lgh lqesfyr ugha gS\
	 (a) 	vkWDlhVkslhu	 	gkWekZsu

	 (b) 	,LikVZse	 	la'ysf"kr e/qjd

	 (c) 	fuvksçhu	 	fof'k"V jcM+

	 (d)	 js;kWu	 	:ikarfjr LVkpZ

	49- 	fuEufyf•r esa ls inkFkZ çksVhu ugha gS\
	 (a) 	dikl

	 (b) 	ds'k@cky

	 (c) 	ywrk js'ke (LikbMj flYd)

	 (d) 	•qj

	50- 	FkeZl ÝykLd esa yEcs le; rd rjy xeZ ;k BaMk 
jgrk gS D;ksafd Å"ek dh dksbZ gkfu vFkok çkfIr ugha 
gksrh gS

	 (a) 	lapkyu

	 (b)	 laogu ,oa fofdj.k

	 (c) 	(a) vkSj (b) nksuksa

	 (d) 	mijksDr esa ls dksbZ ugha

	51-	ekuo 'kjhj esa fuEufyf•r esa ls dkSu&lh xzafFk vUr%lkoh 
,oa cfg%lzkoh nksuksa gh çdkj dh xzafFk gS\

	 (a) 	,sfMªuy xzafFk 	 (b)	 vJq xzafFk

	 (c)	 vXuk'k;	 (d)	 FkkbjkWbM

	 44.	 Which of the following statements about India's 
largest Charkha is/are true?

	 1. 	 It was inaugurated in Noida.
	 2. 	 It is made of used plastic waste.
		  Select the correct answer from the codes given 

below
		  Codes:
	 (a)	 Only 1	 (b) 	Only 2
	 (c)	 Both 1 and 2	 (d) 	Neither 1 nor 2
	 45. 	Which of the following organisms has white blood?
	 (a) 	 Lizard	 (b) 	Cockroach
	 (c) 	 House bug	 (d)	 Mosquito
	 46.	 Nitrogen fixing bacteria make combination with 

cells of the roots of
	 (a) 	 Pulses	 (b) 	Rice
	 (c) 	 When	 (d) 	Sugarcane
	 47.	 What happens when some charge is placed on a 

soap bubble?
	 (a) 	 Its radius increases	
	 (b)	  Its radius decreases
	 (c) 	 The bubble collapses
	 (d) 	 None of the above
	 48.	 Which of the following pairs is NOT correctly 

matched? 
	 (a) 	 Oxytocin		  Hormone
	 (b) 	 Aspartame		  Synthetic sweetner
	 (c) 	 Neoprene 		  Specialized rubber 
	 (d) 	 Rayon		  Modified starch
	 49. 	Which of the following substances is NOT in 

protein?
	 (a) 	 Cotton	 (b) 	Hair
	 (c) 	 Spider silk	 (d)	 Hoof
	 50.	 A liquid remains hot or cold for a long time in 

thermus flask because there is no loss or gain of 
heat by

	 (a) 	 Conduction
	 (b) 	 Convection and radiation 
	 (c) 	 Both (a) and (b)
	 (d) 	 None of the above
	 51. 	Which of the following glands in human body acts 

beath as a endocrine gland as well as an exocrine 
gland?

	 (a) 	 Adrenal gland
	 (b) 	 Lacrimal gland
	 (c) 	 Pancreas
	 (d) 	 Thyroid



11

	52-	fuEufyf•r esa ls fdl inkFkZ esa dSfY'k;e fo|eku gS\

	 (a)	 phuh feêðh	 (b)	 dksjMj

	 (c) 	ftIle	 (d)	 VSYd

	53-	fuEufyf•r esa ls dkSu&lk lgh lqesfyr ugha gS\

	 	 (inkFkZ)		 (mi;ksx)

	 (a) 	flYoj czksekbM	 	Ñf=ke çdk'k 
	 	 	 	la'ys"k.k 

	 (b)	 flYoj vk;ksMkbM	 	Ñf=ke o"kkZ

	 (c)	 yhfFk;e ckbdkckZsusV 	 	xfB;k dk mipkj

	 (d)	 nwfi;k eSXuhf'k;k	 	çfr&vEy

	54- 	rqylh ds ikS/s dk vkS"k/h; egÙo fuEukafdr dh 
mifLFkfr ds dkj.k gS

	 (a)	 vdkcZfud vEy

	 (b)	 dkcZfud vEy 

	 (c)	 iQhukWy ,oa ÝysoksukbM

	 (d)	 mijksDr esa ls dksbZ ugha 

	55-	bdksflLVe ds laca/ esa fuEu esa ls D;k lR; gS\

	 (a) 	çkFkfed miHkksDrk mRiknd ij U;wure :i ls 
vkfJr gSaA

	 (b) 	çkFkfed miHkksDrk mRikndksa ls la[;k esa vf/d 
gksrs gSa

	 (c) 	mRiknd] çkFkfed miHkksDrk esa vf/d gSa

	 (d) 	f}rh;d miHkksDrk vf/dre gksus ds lkFk&lkFk 
cgqr gh 'kfDr'kkyh gS

	56- 	lqiks"k.k ds lanHkZ esa fuEufyf•r esa ls dkSu&lk dFku 
lgh gS@gSa\

	 1- 	;g ty fudk; ds iks"kd rRo lao/Zu dh ?kVuk 
gSA 

	 2- 	;g ty esa ?kqfyr vkWDlhtu dks de djrk gSA 

	 	uhps fn;s gq, dwV esa ls lgh mÙkj pqfu,%

	 	dwV%

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa

	 (d)	 u rks 1 vkSj u gh 2

	57- 	ekuo xfrfof/;ksa ls ifjofrZr i;kZoj.k dgykrk gS

	 (a)	 uSlfxZd i;kZoj.k

	 (b)	 ,UFkzksikstsfud i;kZoj.k

	 (c)	 'kgjh i;kZoj.k

	 (d)	 vk/qfud i;kZoj.k

	 52 	Which one of the following materials contains 
calcium? 

	 (a) 	 China clay	 (b) 	Corundum
	 (c) 	 Gypsumn	 (d)	 Talc
	 53. 	Which one of the following is NOT correctly 

matched?
	 	 (Substance)		  (Use)
	 (a) 	 Silver bromide		  artificial
				    photosynthesis
	 (b) 	 Silver iodide		  artificial rain
	 (c)	 Lithium bicarbonate		  treatment of
				    theumatism
	 (d) 	 Milk of magnesia		  antacid
	 54. 	Tulsi plant has medicinal values due to the presence 

of the following
	 (a) 	 Inorganic Acid
	 (b) 	 Organic Acid
	 (c) 	 Phenols and Flavonoids
	 (d) 	 None of the above
	 55. 	What is true about ecosystem?
	 (a) 	 Primary consumers are least dependent upon 

producer
	 (b) 	 Primary consumers are out-number 

producers
	 (c) 	 Producers are more than primary consumers
	 (d) 	 Secondary consumers are the largest and 

most powerful
	 56.	 With reference to Eutrophication, which of the 

following statements is/are correct?
	 1. 	 It is a phenomenon of nutrient enrichment 

of a water body.
	 2. 	 It depletes dissolved oxygen of the water.
		  Select the correct answer using the codes given 

below:
		  Codes:
	 (a) 	 1 only
	 (b)	 2 only
	 (c) 	 Both 1 and 2
	 (d) 	 Neither 1 nor 2
	 57. 	The environment modified by human activities is 

called
	 (a) 	 Natural environment
	 (b) 	 Anthropogenic environment
	 (c) 	 Urban environment
	 (d) 	 Modem environment
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	 58. 	Which of the following statement is NOT true?
	 (a)	 Species diversity increases from equator 

towards poles. 
	 (b) 	 Tropics harbour more species than temperate 

areas.
	 (c)	 Greatest biodiversity occurs in Amazoncan 

run forest
	 (d) 	 Species diversity decreases from temperate 

areas towards poles.
	 59. 	Which one of the following is the well known 

example of bloindicator of air pollution?
	 (a) 	 Lichens	 (b)	 Methyl mercury 
	 (c) 	 Rose plant	 (d)	 Sunflower
	 60. 	Which of the fallowing is NOT correctly matched?
	 (a) 	 Desalination		  Sea water
	 (b) 	 Reverse osmosis		  Potabic water
	 (c) 	 Denuturation		  Proteins
	 (d) 	 Pasteurisation		  Tea
	 61. 	Which of the following is an example of herbicide?
	 (a)	 Sodium chlorate
	 (b)	 Potassium permanganate
	 (c)	 Bleaching powder
	 (d)	 None of the above
	 62. 	The gas, which is emitted in the paddy fields and 

increases the earth's temperature is
	 (a) 	 Nitrogen	 (b)	 Carbon dioxide:
	 (c) 	 Carbon monoxide	 (d)	 Methane
	 63. 	At which of the following places is the Secretariat 

of the International Solar Alliance (LSA) located 
as present? 

	 (a) 	 Paria	 (b) 	New Delhi
	 (c) 	 Gurugram	 (d) 	New York
	 64. 	The First Union Territory of India to run 100 

percent on solar energy is
	 (a) 	 Andaman-Nicobar	 (b) 	Chandigarh
	 (c) 	 Diu	 (d) 	Puducherry
	 65. 	Given below are two statements, ane is labelled as 

Assertion (a) and the other as Reason (R). 
	 	 Assertion (A): There is a positive relation between 

Human Development Index (HDI) and Sustainable 
Development Goals (SDG) ranking of Indian State. 

		  Reason (R): The underlying dimension of SDG 
targets are closely related to education and health 
aspect. Select the correct answer from the codes 
given below:

	58-	fuEufyf•r dFkuksa esa ls dkSu&lk lR; ugha gS\
	 (a) 	Hkweè;js•k ls èkzqoksa dh vksj tkfr fofo/rk esa 

o`f¼ gksrh gSA 

	 (b)	 m".kdfVca/] 'khrks".k {ks=kksa dh vis{kk vf/d 
tkfr;ksa dks vkJ; nsrs gSa A 

	 (c)	 fo'kkyre tSofofo/rk vestuh o"kkZ ouksa esa ik;h 
tkrh gSA

	 (d) 	 tkfrfofo/rk 'khrks".k {ks=kksa ls èkzqoksa dh vksj ?kVrh 
tkrh gSA 

	59- 	fuEufyf•r esa ls dkSu&lk ok;qçnw"k.k ds tSfod lwpd 
dk çfl¼ mnkgj.k gS\

	 (a)	 ykbdUl 	 (b)	 esfFky ejD;wfj
	 (c) 	xqykc dk ikS/k	 (d)	 lwjteq•h dk iq"i

	60- 	fuEufyf•r esa ls dkSu&lk lgh eqesfyr ugha gS\
	 (a)	 vyo.khdj.k	 	leqæhty

	 (b)	 çfrykse ijklj.k 	 	is;ty

	 (c)	 foÑrhdj.k	 	çksVhu

	 (d) 	ikLrqjhdj.k	 	pk;

	61- 	fuEufyf•r esa ls dkSu&lk ,d 'kkduk'kd dk mnkgj.k 
gSA

	 (a)	 lksfM;e DyksjsV
	 (b)	 iksVSf'k;e ije¡xusV 
	 (c)	 Cyhfpax ikmMj
	 (d)	 mijksDr esa ls dksbZ ugha

	62- 	xSl] tks /ku ds •sr ls mRlftZr gksrh gS rFkk Hkwfe ds 
rkieku esa o`f¼ djrh gS] og gS

	 (a) 	ukbVªkstu	 (b)	dkcZu MkbvkWDlkbM

	 (c) 	dkcZu eksuksvkWDlkbM 	 (d) 	feFksu
	63- 	varjkZ"Vªh; lkSj laxBu (vkb-,l-,-) dk lfpoky; 

orZeku esa fuEufyf•r fdl LFkku ij fLFkr gS\
	 (a) 	isfjl	 (b) 	ubZ fnYyh
	 (c) 	xq#xzke	 (d) 	U;w;kWdZ

	64- 	lkS çfr'kr lkSj ij pyus okyk Hkkjro"kZ dk igyk dsUæ 
'kkflr çns'k gS

	 (a)	 v.Meku&fudksckj	 (b)	 paMhx<+
	 (c) 	nho	 (d)	 iqMqpsjh
	65- 	uhps nks dFku fn;s x, gSa ftuesa ,d dks dFku 	

(A) rFkk nwljs dks dkj.k (R) dgk x;k gSA 
	 	dFku (A): ekuo fodkl lwpdkad (,p Mh vkbZ) ,oa 

lrr~ fodkl y{;ksa (,l Mh th) ij vk/kfjr Hkkjrh; 
jkT;ksa dh ojh;rk esa /ukRed laca/ gSA

	 	dkj.k (R): ,l Mh th y{;ksa ds vk/kjHkwr vk;ke 
f'k{kk ,oa LokLF; ls ?kfu"Brk ds lkFk varlacaf/r gSA 
uhps fn;s gq, dwVksa esa ls lgh mÙkj pqfu, %
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	 Codes: 
	 (a) 	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b) 	 Both (A) and (R) are true but (R) is not the 

correct explanation of (A)
	 (c)	 (A)	 is true, but (R) is false 
	 (d)	 (A)	 is false, but (R) is true
	 66. 	Multidimensional poverty index includes:
	 i. 	 Health
	 ii. 	 Education
	 iii. 	 Living Standard 
		  Select correct answer from the codes given below:
		  Codes:
	 (a) 	 Only i is correct
	 (b) 	 Only ii and iii are correct
	 (c) 	 Only i and ii are correct 
	 (d) 	 i. ii and iii are correct
	 67.	 Arrange the following events in chronological 

order of their commencement and select correct 
answer from the codes given below:

	 1. 	 Wild Life (Protection) Act
	 П. 	 Biological Diversity Act
	 III. 	 Project Tiger
	 IV. 	 Project Elephant
		  Codes:
	 (a) 	 I, II, III, IV	 (b)	 I, III, IV, II
	 (c) 	 II, III, IV, I	 (d)	 II, III, I, IV
	 68.	 Under the Civil Registration System (CRS), it is 

legally mandatory to register birth and death events 
within how many days in India?

	 (a) 	 15 days	 (b) 	21 days
	 (c) 	 26 days	 (d) 	30 days
	 69.	 National Family Health Survey (NFHS) - 5 dues 

not include
	 (a) 	 High blood-pressure
	 (b)	 Diabetes
	 (c) 	 HIV Test
	 (d) 	 Registration of death
	 70. 	The Environmental Kuznets Curve (EKC) shows 

the relationship between per capita GDP and 
environmental loss. What is the shape of 
Environmental Kuznets Curve?

	 (a) 	 Inverted "U" shaped
	 (b)	 Inverted "V" shaped
	 (c) 	 Inverted 'L' shaped
	 (d)	 Nune of these

	 	dwV%

	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R) dFku (A) 
dh lgh O;k[;k gS

	 (b)	 (A) vkSj (R) nksuksa lgh gSa ijUrq (R) dFku 
(A) 	dh lgh O;k[;k ugha gS

	 (c)	 (A) lgh gS] fdarq (R) xyr gS

	 (d)	 (A)	 xyr gS] fdarq (R) lgh gS

	66- 	cgqvk;keh fu/Zurk lwpdkad esa lfEefyr gksrk gS%

	 i. 	LokLF;

	 ii. 	f'k{kk

	 iii. 	thou&Lrj

	 	uhps fn;s gq, dwVksa esa ls lgh mÙkj pqfu,%

	 	dwV %

	 (a)	 dsoy i lgh gS

	 (b)	 dsoy ii vkSj iii lgh gS

	 (c)	 dsoy i vkSj ii lgh gSa 

	 (d)	 i, ii vkSj iii lgh gSa

	 67-	fuEufyf•r ?kVukvksa dks muds çkjaHk ds dkykuqØe esa 
O;ofLFkr djsa vkSj uhps fn;s dwVksa esa ls lgh mÙkj 
pqfu,%

	 I.	 oU; tho (laj{k.k) vf/fu;e

	 II.	 tSo fofo/rk vf/fu;e

	 III.	 çkstsDV Vkbxj

	 IV.	 çkstsDV gkFkh

		 dwV%
	 (a) 	 I, II, III, IV	 (b)	 I, III, IV, II
	 (c) 	 II, III, IV, I	 (d)	 II, III, I, IV

	68-	ukxfjd iathdj.k ç.kkyh (CRS) ds varxZr fdrus fnuksa 
ds Hkhrj tUe rFkk e`R;q dh ?kVuk dks Hkkjr esa jftLVªs'ku 
djkuk dkuwuh :i ls vfuok;Z gksrk gS\

	 (a)	 15 fnu	 (b)	 21 fnu

	 (c)	 26 fnu	 (d) 	30 fnu

	69-	jk"Vªh; ifjokj LokLF; loZs{k.k (NFHS)&5 lfEefyr 
ugha djrk gS

	 (a)	 mPp jDr&pki 	 (b)	 e/qesg

	 (c)	 ,p- vkbZ- oh- ijh{k.k 	(d)	 e`R;q dk iathdj.k

	70-	i;kZoj.kh; dqtusVl pØ i;kZoj.kh; {kfr ,oa çfr 
O;fDr thMhih ds eè; laca/ n'kkZrk gSA bl i;kZoj.kh; 
dqtusV~l pØ dk vkdkj fdl çdkj dk gksrk gS\

	 (a)	 mYVk ;w vkdkj 	 (b)	 mYVk oh vkdkj

	 (c)	 mYVk ,y vkdkj 	 (d)	 buesa ls dksbZ ugha
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	 71. 	Given below are two statements. one is labelled as 
Assertion (A) and the other as Reason (R)

		  Assertion (A): Sustainable deve pment is 
important for well being of humur society 

		  Reason (R): Sustainable development is a kind of 
development that meets the needs of the present 
without compromising the ability of future 
generations to meet their own needs. 

		  Select the conect answer from the codes given 
below:

		  Codes:
	 (a) 	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b) 	 Both (A) and (R) are true hut (R) is not the 

correct explanation of (A) 
	 (c)	 (A) is true, but (R) is false
	 (d)	 (A) is false, but (R) is true
	 72.	 Which of the following Direct Benefit Scheme 

(DBS) has been recognized by the 'Guinness Book 
of World Record' as the world's largest Direct 
Benefit Scheme?

	 (a) 	 MGNREGA	 (b)	 PAHAL
	 (c) 	 NSAP	 (d)	 None of the above
	 73. 	With reference to the National Food Security Act, 

which of the following statements is/are correct?
	 I.	 It will cover upto 75 percent rural and 50 

percent urban population.
	 II.	 Special focus on nutritional support to 

women and children.
	 III.	 Eldest woman of above 18 years age will be 

head of household.
		  Select the correct answer using the coxles given 

below:
	 (a) 	 I and II are correct
	 (b)	 II and III are conect
	 (c)	 I, II and III are correct
	 (d)	 None of these
	 74. 	With reference to the incasures of Tenancy Reform 

in India, which of the statements is/are correct?
	 1. 	 Regulation of rent 
	 2. 	 Security of tenure
	 3. 	 Confirment of ownership on tenants
		  Select the correct answer using codes given below:
	 (a) 	 1 only
	 (b)	 1 and 2 only
	 (c) 	 2 and 3 only
	 (d)	 1, 2 and 3

	71- 	uhps nks dFku fn;s x, gSa ftuesa ,d dks dFku 	
(A) rFkk nwljs dks dkj.k (R) dgk x;k gSA

	 	dFku (A)% lrr~ fodkl ekuo lekt ds dY;k.k gsrq 
egÙoiw.kZ gSA

	 	dkj.k (R): lrr~ fodkl esa vfHkçk; ,sls fodkl ls 
gS] tks Hkkoh ihf<+;ksa dh t:jrsa iwjh djus dh ;ksX;rk 
dks çHkkfor fd;s fcuk crZeku le; dh vko';drk 
iwjh djsaA 

	 	uhps fn;s dwVksa esa ls lgh mÙkj pqfu,%

	 	dwV% 

	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R) dFku (A) 
dh lgh O;k[;k gS

	 (b)	 (A) vkSj (R) nksuksa lgh gSa ijUrq (R) dFku (A) 
dh lgh O;k[;k ugha gS 

	 (c)	 (A) lgh gS] fdarq (R) xyr gS 

	 (d)	 (A) xyr gS] fdarq (R) lgh gS

	72- 	fuEufyf•r esa ls fdl çR;{k ykHk ;kstuk dks fxuht 
cqd vkWiQ oYMZ fjdkWMZ }kjk fo'o dh lcls cM+h çR;{k 
ykHk ;kstuk ekuk x;k gS\

	 (a)	 eujsxk (MGNREGA)

	 (b) 	igy (PAHAL)

	 (c) 	,u- ,l- ,- ih- (NSAP) 

	 (d) 	mijksDr esa ls dksbZ ugha

	73- 	jk"Vªh; •k| lqj{kk vf/fu;e ds lanHkZ esa] fuEufyf•r 
dFkuksa esa dkSu lgh gS@gS\

	 I.	 ;g 75 çfr'kr xzkeh.k vkSj 50 çfr'kr 'kgjh 
tula[;k dks vkPNkfnr djsxhA

	 II.	 efgykvksa vkSj cPpksa dks iks"k.k laca/h lgk;rk 
ij fo'ks"k è;ku nsukA

	 III.	 18 o"kZ vk;q ls vf/d dh lcls cM+h efgyk 
dh eqf•;k gksxhA

	 	uhps fn;s gq, dwVksa esa ls lgh mÙkj pqfu,%

	 (a)	 I vkSj II lgh gSa	 (b)	 II vkSj III lgh gSa 

	 (c) 	 I, II vkSj III lgh gSa	 (d)	 buesa ls dksbZ ugha

	74- 	Hkkjr esa iêðsnkjh lq/kj ds mik;ksa ds lanHkZ esa] dkSu&lk 
dFku lgh gS@gS\ 

	 1- 	yxku dk fofu;eu

	 2- 	vof/ dh lqj{kk

	 3- 	iêðsnkjh ij LokfeRo dh ?kks"k.kk

	 	uhps fn;s gq, dwVksa esa ls lgh mÙkj pqfu,%

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3
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	 75. 	With reference to the functions of Public Sector in 
India, which of the following statements is/are 
correct?

	 I. 	 To provide public utility resources
	 II. 	 To build social and economic overhead 

capital growth
	 III. 	 To ensure balanced regional and sectoral 
	 IV. 	 To pursue egalitarian goals
		  Select the correct answer using the codes given 

below: 
	 (a) 	 I, II and III are correct
	 (b) 	 II, III and IV are correct
	 (c) 	 I, II, III and IV are correct
	 (d) 	 I, III and IV are correct
	 76. 	In the Suez canal region, the correct order of lakes 

lying from North to South direction is
	 (a) 	 Lake Timsah-Little Bitter Lake-Great Bitter 

Lake-Luke Manzola
	 (b) 	 Great Bitter Lake - Little Bitter Lake-Lake 

Timsah-Lake Manzala
	 (c) 	 Lake Manzala - Great Bitter Lake - Little 

Bitter Lake-Lake Timsah 
	 (d) 	 Lake Manzala-Lake Timsah- Cireat Bitter 

Lake-Little Bitter Lake
	 77. 	Telegraphic Plateau is a part of
	 (a) 	 North Atlantic Ridge
	 (b)	 South Atlantic Ridge
	 (c) 	 Indian Ocean Ridge
	 (d) 	 None of these
	 78. 	Match List-I with List-II and select the correct 

answer using the codes given below the lists:
	 	 List-I 		  List-II
	 	 (Different name 	 	 (Country)
		  of tropical cyclone)
	 A. 	 Willy-Willies 	 1. 	Philippines
	 B. 	 Taifu	 2. 	Australia 
	 C. 	 Baguio	 3. 	Japan
	 D. 	 Hurricanes	 4. 	U.S.A.
		  Codes:
			   A 	 B 	 C	 D
	 (a) 		  3 	 4	 1	 2
	 (b) 		  2 	 3	 4	 1
	 (c) 		  1	 3	 2	 4
	 (d) 		  2 	 3	 1	 4

	75- 	Hkkjr esa lkoZtfud {ks=k ds dk;ks± ds lanHkZ esa] fuEufyf•r 
esa ls dkSu&lk dFku lgh gS@gSa\

	 I. 	lkoZtfud mi;ksfxrk lalk/u çnku djuk

	 II. 	lkekftd vkSj vkfFkZd mifj iw¡th dk fuekZ.k

	 III. 	larqfyr {ks=kh; vkSj {ks=kdh; fodkl lqfuf'pr 
djuk

	 IV. 	lerkoknh y{;ksa dks vkxs c<+kuk

	 	uhps fn;s gq, dwVksa esa ls lgh mÙkj pqfu,%
	 (a) 	 I, II vkSj III lgh gSa

	 (b) 	 II, III vkSj IV lgh gSa

	 (a) 	 I, II, III vkSj IV lgh gSa

	 (d) 	 I, III vkSj IV lgh gSa

	 76- 	Lost ugj {ks=k esa mÙkj ls nf{k.k fn'kk dh vksj cgus 
okys >hyksa dk egh Øe gS&

	 (a)	 ysd fVElk & fyfVy fcVj ysd & xzsV fcVj 
ysd & ysd eatyk

	 (b)	 çsV fcVj ysd & fyfVy fcVj ysd & ysd fVIlk 
& ysd eatyk 

	 (c)	 ysd eatyk&  xzsV fcVj ysd & fyfVy fcVj 
ysd & ysd fVElk 

	 (d)	 ysd eatyk & ysd fVElk & xzsV fcVj ysd & 
fyfVy fcVj ysd 

	77-	VsyhxzkfiQd iBkj fgLlk gS
	 (a)	 mÙkj ,VykafVd dk

	 (b)	 nf{k.k ,VykafVd dVd dk

	 (c)	 fgan egklkxj dVd dk

	 (d)	 buesa ls dksbZ ugha

	78-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk lwfp;ksa ds 
uhps fn;s x;s dwV ls lgh mÙkj pqfu;s

	 	 lwph&I		 lwph&II

	 	 (m".kdfVca/h; 		 (ns'k)

		  pØokr ds 

		  fofHkUu uke)

	 A.	 foyh&fcfyt	 1- 	fiQyhihal

	 B. 	VSiQw	 2- 	vkWLVªsfy;k

	 C. 	 cxqbvks 	 3- 	tkiku

	 D. 	 gfjdsUl	 4- 	;w-,l-,-

	 	dwV%
			   A	 B 	 C	 D
	 (a) 		  3	 4	 1	 2
	 (b) 		  2	 3	 4	 1
	 (c) 		  1	 3	 2	 4
	 (d) 		  2	 3	 1	 4
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	 79.	 Which one of the following cities is NOT located 
on the Trans-Siberian rail mute 

	 (a) 	 Kazan	 (b)	 Omsk
	 (c) 	 Sachi	 (d)	 Chita
	 80. 	Which of the fallowing is NOT correctly matched?
		  (Wind)		  (Country)
	 (a) 	 Santa Ana		  California
	 (b) 	 Haboob		  Sudan
	 (c) 	 Yamo		  Japan
	 (d)	 Mistral		  Australia
	 81. 	Match List-I with List-II and select the correct 

answer using the codes given below the lists:
		  List-I 		  List-II
		  (Coal Fields)		  (Located)
	 A. 	 Takhir	 1. 	Damodar Valley
	 B. 	 Karnapura	 2. 	Son Valley
	 C. 	 Singroll	 3. 	Godavari Valley
	 D. 	 Singrent	 4. 	Mahanadi Valley
	 	 Code:
			   A	 B	 C	 D
	 (a)		  4 	 1 	 2 	 3
	 (b) 		  3 	 2 	 1	 3
	 (c) 		  2	 4	 3	 1
	 (d) 		  1	 3	 2	 1
	 82. 	Which one of the following peaks is NOT located 

in India?
	 (a) 	 Gurla Mandhata 	 (b) 	Namcha Barwa
	 (c) 	 Kamer	 (d)	 Nanga Parbat
	 83. 	The winter rains caused by Western disturbance in 

North Westem Plain of India gradually decreases 
from

	 (a) 	 East to West	 (b) 	West to East

	 (c) 	 North to South	 (d) 	South to North

	 84. 	In which of the following rivers, the upper course 
contains fresh water but saline water flowing at the 
lower part?

	 (a) 	 Barak river	 (b)	 Luni river
	 (c) 	 Ghaggar river	 (d)	 None of the above
	 85. 	'Moribund Delta' is a subdivision of which of the 

following Delta?
	 (a) 	 Krishna-Godawari Delta
	 (b) 	 Mahanadi Delta
	 (c) 	 Bengul Deltu
	 (d) 	 Cauvery Delta

	79-	fuEufyf•r esa ls dkSu&lk ,d uxj lkbcsfj;kikjh; 
jsyekxZ ij vofLFkr ugh gS\

a	 (a)	 dtku	 (b)	 vkseLd

	 (c)	 lksph	 (d)	 fprk

	80-	fuEufyf•r esa ls dkSu&lk lgh lqesfyr ugha gS\
	 	 (iou)		 (ns'k)

	 (a)	 lkUrk vuk	 	dSfyiQksfuZ;k

	 (b)	 gcwc	 	lwMku

	 (c)	 ;keks	 	tkiku

	 (d)	 feLVªy	 	vkLVªsfy;k

	81-	lwph&I dks lwph&II ls lqesfyr dhft;s rFkk lwfp;ksa ds 
uhps fn;s x;s dwV ls lgh mÙkj pqfu;s%

	 	 lwph&I		 lwph&II

		  (dks;yk {ks=k)		 (vofLFkfr)

	 A. 	rkyfpj 	 1- 	nkeksnj ?kkVh

	 B- 	d.kZiqjk	 2- 	lksu ?kkVh

	 C. 	flaxjkSyh	 3- 	xksnkojh ?kkVh 

	 D. 	flaxjsuh	 4- 	egkunh ?kkVh

	 	dwV %
			   A	 B	 C	 D
	 (a)		  4 	 1	 2	 3
	 (b) 		  3 	 2 	 1	 3
	 (c) 		  2	 4	 3	 1
	 (d) 		  1	 3	 2	 1

	82-	fuEufyf•r esa ls dkSu&lh ,d pksVh Hkkjr esa vofLFkr 
ugha gS\

	 (a)	 xqjyk ekU/krk 	 (b)	 ukepk cjok 

	 (c) 	dkesV	 (d) 	esxk ioZr

	83-	Hkkjr ds mÙkj if'peh eSnku esa if'peh fo{kksHk ls tkM+s 
esa gksus okyh o"kkZ dh ek=kk Øe'k% de gksrh tkrh gS

	 (a)	 iwoZ ls if'pe dh vksj

	 (b)	 if'pe ls iwoZ dh vksj

	 (c)	 mÙkj ls nf{k.k dh vksj 

	 (d)	 nf{k.k ls mÙkj dh vksj

	84-	fuEufyf•r esa ls fdl unh ds Åijh ekxZ esa ehBk ty 
dk ijarq fupys Hkkx esa •kjs ty dk çokg feyrk gS\

	 (a) 	cjkd unh	 (b)	 ywuh unh

	 (c)	 ?kkxj unh	 (d)	 mijksDr esa ls dksbZ ugha

	85-	eksjhcUn MsYVk fuEufyf•r esa ls fdl MsYVk dk ,d 
mifoHkkx gS\

	 (a)	 Ñ".kk&xksnkojh MsYVk	 (b)	 egkunh MsYVk 

	 (c)	 caxky MsYVk	 (d)	 dkosjh MsYVk
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	 86. 	Given below are two statements, one is labelled as 
Assertion (A) and the ether as Reason (R).

	 	 Assertion (A): Sugarcane and sugar production in 
U.P. is more thun Maharashtra but productivity is 
less.

	 	 Reason (R): Most of the sugar factories in 
Maharashtra are in cooperurive sector.

		  Codes:
	 (a) 	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b)	 Boch (A) and (R) are true, but (R) is not the 

correct explanation of (A).
	 (c)	 (A) is true, but (R) is false
	 (d)	 (A) is false, but (R) is true
	 87. 	Which of the following is NOT correctly matched?
	 (a) 	 Dam		  Copper coin 
	 (b) 	 Desai		  Revenue Collector
 	 (c) 	 Diwan		  Revenue Chief of 
				    a province
	 (d) 	 Jarib		  A type of tax
	 88. 	Match List-I with List-II and select the correct 

answer using the codes given below:
		  List - I		  List-II
	 A. 	 Mulla Daud	 1. 	Chandayan
	 B. 	 Damodar Kavi	 2. 	Ashiqa
	 C.	 Somnath	 3.	 Padmavati Katha
	 D. 	 Amir Khusro	 4. 	Rag Vibodh
		  Codes:
			   A 	 B 	 C 	 D
	 (a)		  1 	 3 	 2	 4
	 (b)		  1 	 3	 4	 2
	 (c)		  2 	 4	 1 	 3
	 (d) 		  1 	 2 	 3 	 4
	 89. 	Who among the following kings had given 

patronage to Tansen before Akbar?
	 (a) 	 Raja Ramchandra Singh of Bhata
	 (b) 	 Rajbahadur of Malwa
	 (c) 	 Uday Singh of Mewar
	 (d) 	 Muzaffar Shah of Gujarat
	 90.	 Match List-I with List-II and select the correct 

answer from the codes given below the lists:
		  List-I		  List-II
		  (Ruling Dynasties)		  (Capitals)
	 A. 	 Pallava	 1. 	Warangal
	 B. 	 Pandya	 2. 	Kanchi
	 C. 	 Yadava	 3. 	Madura
	 D. 	 Kaktiya	 4. 	Devagiri

	86-	uhps nks dFku fn;s x;s gSa ftuesa ,d dks dFku 	
(A) rFkk nwljs dks dkj.k (R) dgk x;k gSA 

	 	dFku (A)% mÙkj çns'k esa xUuk rFkk phuh dk mRiknu 
egkjk"Vª ls vf/d gS ijarq mRikndrk de gSA

	 	dkj.k (R): egkjk"Vª esa vf/dka'k phuh feysa lgdkjh 
{ks=k esa LFkkfir gSaA

	 dwV%

	 (a)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa rFkk 
dkj.k (R) dFku (A) dh lgh O;k[;k djrk gS

	 (b)	 dFku (A) rFkk dkj.k (R) nksuksa lgh gSa ijarq 
dkj.k (R) dFku (A) dh lgh O;k[;k ugha gS 

	 (c)	 dFku (A) lgh gS] fdarq dkj.k (R) xyr gS
	 (d)	 dFku (A) xyr gS] fdarq dkj.k (R) lgh gS
	87-	fuEufyf•r esa ls dkSu&lk lgh lqesfyr ugha gS\
	 (a) 	nke	 	 rkez dh eqæk

	 (b) 	nslkbZ	 	 jktLo vf/dkjh

	 (c) 	nhoku	 	 çkarh; jktLo dk çeq•
	 (d) 	tjhc	 	 ,d çdkj dk dj

	88-	lwph&I dks lwph&II ls lqesfyr dhft;s vkSj uhps fn;s 
dwVksa ls lgh mÙkj pqfu;s

	 A.	 eqYyk nkmn	 1-	pkank;u

	 B. 	nkeksnj dfo	 2- 	vkf'kdk

	 C. 	lkseukFk	 3-	in~ekorh dFkk

	 D.	 vehj [kqljks	 4-	jkx focks/

	 	dwV%
			   A	 B	 C	 D
	 (a)		  1 	 3 	 2	 4
	 (b)		  1 	 3	 4	 2
	 (c)		  2	 4	 1	 3
	 (d) 		  1	 2	 3	 4
	89- 	fuEufyf•r jktkvksa esa ls fdlus vdcj ds iwoZ rkulsu 

dks laj{k.k fn;k Fkk
	 (a)	 HkkVk dk jktk jkepaæ flag

	 (b)	 ekyok dk jktcgknqj

	 (c) 	esokM+ dk mn; flag

	 (d)	 xqtjkr dk eq”kÝiQj 'kkg

	90-	lwph&I dks lwph&II ls lqesfyr dhft;s vkSj lwfp;ksa ds 
uhps fn;s x, dwV ls lgh mÙkj pqfu,%

	 	 lwph&I		 lwph&II
		  (jktoa'k)		 (jkt/kuh)

	 A.	 iYyo	 1-	okjaxy

	 B-	 ik.M~;	 2-	dk¡ph

	 C.	 ;kno	 3-	enqjk 

	 D.	 dkdrh;	 4-	nsofxfj
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	 	 Codes:
			   A	 B	 C	 D
	 (a)		  2	 1 	 4 	 3
	 (b) 		  2 	 3 	 4 	 1
	 (c) 		  1	 2	 3	 4
	 (d) 		  2 	 4	 3	 1
	 91. 	Arrange the following monuments in a 

chronological order and select the correct answer 
from the codes given below:

	 I. 	 Rabia Daurani's Tomb, Aurangabad 
	 II. 	 Shershah Suri's Tomb, Sasaram
	 III 	 Humayun's Tomb, Delhi
	 IV. 	 Aiala Mosque, Jaunpur
		  Codes:
	 (a) 	 I, II, IV, III	 (b) 	IV, II, III, I
	 (c) 	 II, I, III, IV	 (d) 	III, IV, II, I
	 92. 	With reference to Mansabdari system, which of 

the statements is/are conect?
	 1. 	 Mansabdari system was the official nobility 

of the state, started by Akbar. 
	 2. 	 A Mansabdari was hereditary.
		  Select the correct answer using the codes given 

below:
		  Codes:
	 (a) 	 1 only	 (b) 	Both 1 and 2
	 (c) 	 2 only	 (d) 	Neither 1 nor 2
	 93. 	Match List - I with List II and select the correct 

answer from the codes given below the lists:
		  List-I		  List-II
	 A. 	 Treaty of Allahabad 	 1. 	1782
	 B. 	 Treaty of Manglore 	 2. 	1784
	 C. 	 Treaty of Salbai	 3. 	1769
	 D. 	 Treaty of Madras 	 4. 	1765
		  Codes:
	 		  A 	 B 	 C 	 D
	 (a) 		  4 	 2 	 3 	 1
	 (b)		  2 	 4 	 3 	 1
	 (c) 		  4 	 2 	 1	 3
	 (d) 		  2 	 4 	 1 	 3
	 94. 	Arrange the following events in a chronological 

order and select correct answer from the codes 
given below:

	 I. 	 Poona Pact 
	 II. 	 Gandhi-Irvin Agreement
	 III. 	 Cripps Mission
	 IV. 	 Civil Disobedience Movement

	 	dwV %
			   A	 B	 C	 D
	 (a)		  2	 1	 4	 3
	 (b) 		  2 	 3 	 4	 1
	 (c) 		  1	 2	 3	 4
	 (d) 		  2 	 4	 3	 1

	91- 	fuEufyf•r Lekjdksa dks dkykuqØe esa O;ofLFkr dhft;s 
vkSj uhps fn;s gq, dwVksa esa ls lgh mÙkj pqfu,%

	 I- 	jkfc;k nkSjkuh dk edcjk] vkSjaxkckn

	 II- 	'ksj'kkg lwjh dk edcjk] lklkjke

	 III- 	gqek;w¡ dk edcjk] fnYyh

	 IV. 	vVkyk elftn] tkSuiqj

	 	dwV%
	 (a) 	 I, II, IV, III	 (b) 	IV, II, III, 1

	 (c) 	 II, I, III, IV	 (d) 	III, IV, II, 1

	92- 	eulcnkjh O;oLFkk ds lanHkZ esa dkSu&lk dFku lgh gS@
gS\ 

	 1- 	eulcnkjh O;oLFkk jkT; ds dqyhu oxZ ls lacaf/r 
Fkh] ftls vdcj us çkjaHk fd;kA

	 2- 	eulcnkjh dk in iSr`d FkkA uhps fn;s x, dwVksa 
ls lgh mÙkj pqfu,%

	 	dwV%
	 (a)	 dsoy 1	 (b)	 1 vkSj 2 nksuksa

	 (c)	 dsoy 2	 (d)	 u rks 1 vkSj u gh 2

	93-	lwph&I dks lwph&II ls lqesfyr dhft;s vkSj lwfp;ksa ds 
uhps fn;s x, dwV ls lgh mÙkj pqfu,%

	 	 lwph&I		 lwph&II

	 A.	 bykgkckn dh laf/	 1-	1782

	 B.	 eaxykSj dh laf/	 2-	1784

	 C.	 lkyckbZ dh laf/	 3- 	1769

	 D- 	eækl dh laf/	 4-	1765

	 	dwV%
			   A 	 B 	 C 	 D
	 (a) 		  4 	 2 	 3 	 1
	 (b)		  2 	 4 	 3 	 1
	 (c) 		  4 	 2 	 1	 3
	 (d) 		  2 	 4 	 1 	 3

	94-	fuEufyf•r ?kVukvksa dks dkykuqØe esa O;ofLFkr dhft;s 
vkSj uhps fn;s dwVksa esa ls lgh mÙkj pqfu,%

	 I- 	iwuk iSDV

	 II- 	xka/h&bfoZu le>kSrk

	 III- 	fØIl fe'ku

	 IV- 	lfou; voKk vkanksyu



19

		  Codes:
	 (a)		  IV, 	 II, 	 III,	 I
	 (b)	  	 II, 	 IV, 	 I, 	 III
	 (c)	  	IV, 	 II, 	 I, 	 III 
	 (d) 		  III, 	 I,	 IV, 	 II
	 95. 	With reference to the Civil Administration in 1905, 

which of the statements is/are correct?
	 1.	 Lord Curzon decided to rearrange the 

provincial boundaries.
	 2.	 A new province was constituted, called East 

Bengal and Assam.
		  Select the correct answer using the codes given 

below:
	 (a) 	 1 only	 (b)	 Both 1 and 2
	 (c) 	 2 only	 (d)	 Neither 1 nor 2
	 96. 	Who prepared "C.R. Formula" to remove the 

political deadlock between Muslim League and 
Indian National Congress? 

	 (a) 	 Jawaharlal Nehru	 (b)	 Rajgopalachar
	 (c) 	 Chittaranjan Das	 (d)	 V. P. Menon
	 97. 	"The Rise and Growth of Economic Nationalism 

in India" was written by 
	 (a) 	 Partha Sarthi Gupta	 (b)	 S Gopal 
	 (c) 	 B. R. Nanda	 (d)	 Bipin Chandra
	 98. 	In which of the following the provisions for the 

protection and improvement of environment and 
safeguarding of forests and wildlife are found in 
the Constitution of Indra

	 (a) 	 Only in the Directive Principles of State 
Policy 

	 (b) 	 Only in the Fundamental Dunes
	 (c) 	 Both (a) and (b)	
	 (d) 	 None of the above
	 99. 	With reference to Panchayats which of the 

statements is/are correct? 
	 1. 	 Fifty percent seats shall be reserved for the 

women of SC/ST categories.
	 2. 	 Gram Sabha is a body consisting of all 

persons living in the village.
	 3. 	 There will be a Panchayat at intermediate 

level.
		  Select the correct answer using the codes given 

below:
		  Codes: 
	 (a) 	 1 only	 (b)	 2 and 3 
	 (c) 	 Both 1 and 2	 (d)	 3 only

	 	dwV%
	 (a)		  IV, 	 II, 	 III,	 I
	 (b)	  	 II, 	 IV, 	 I, 	 III
	 (c)	  	IV, 	 II, 	 I, 	 III 
	 (d) 		  III, 	 I,	 IV, 	 II

	95-	vlSfud ç'kklu 1905 ds lanHkZ esa] dkSu&lk dFku 
lgh gS@gSa\ 

	 1- 	ykbZ d”kZu ds çkarh; lhekvksa dks iquxZfBr djus 
dk fu.kZ; fy;kA

	 2- 	iwohZ caxky vkSj vklke uked ,d u;k çkar 
cuk;k x;kA

	 	uhps fn;s x, dwVksa esa ls lgh mÙkj pqfu,%
	 (a)	 dsoy 1

	 (b)	 1 vkSj 2 nksuksa

	 (c)	 dsoy 2

	 (d)	 u rks 1 vkSj u gh 2

	96- 	eqfLye yhx ,oa Hkkjrh; jk"Vªh; dkaxzsl ds chp 
jktuhfrd xfrjks/ dks nwj djus ds fy;s lh- vkj- iQkWeZwyk 
fdlus cuk;k Fkk\

	 (a)	 tokgjyky usg:	 (b)	 jktxksikykpkjh

	  (c)	 fpÙkjatu nkl	 (d)	 ch-ih- esuu

	97-	fn jkbt ,.M xzksFk vkWiQ bdksukfed uS'kuWfyte bu 
bf.M;k ds ys•d FksA

	 (a) 	ikFkZ lkFkhZ xqIr	 (b)	 ,l- xksiky

	 (c)	 ch- vkj- uank	 (d)	 fcfiu pUæ

	98-	fuEufyf•r esa ls Hkkjr ds lafo/ku ds fdlesa i;kZoj.k 
laj{k.k ,oa lao/Zu rFkk ou o oU; thou dh j{kk ds 
çko/ku ik;s tkrs gSa\

	 (a) 	dsoy jkT; ds uhfr funZs'kd rRoksa esa

	 (b) 	dsoy ewy drZO;ksa esa

	 (c) 	(a) vkSj (b) nksuksa

	 (d) 	mijksDr esa ls dksbZ ugha

	99- 	iapk;rksa ds lanHkZ esa fuEu esa ls dkSu&lk dFku lgh 
gS@gSa\

	 1-	 ipkl çfr'kr lhVsa vuqlwfpr tkfr @ vuqlwfpr 
tu&tkfr dh efgykvksa ds fy;s vkjf{kr gksxkA

	 2-	 xzke lHkk ,d fudk; gS ftlesa xkao ds jgus 
okys lHkh yksx gksrs gSaA

	 3-	 eè;orhZ Lrj ij ,d iapk;r gksxkA

	 	uhps fn;s x, dwV dk ç;ksx djrs gq, lgh mÙkj pqfu,%
		 dwV% 
	 (a) 	dsoy 1	 (b) 	2 rFkk 3 

	 (c) 	1 rFkk 2 nksuksa	 (d) 	dsoy 3
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	100. 	Mazdoor Kisan Shakti Sangathan (MKSS), a 
Social Movement has been associated with which 
of the following in India?

	 (a) 	 RTE Act	
	 (b)	 RTI Act
	 (c) 	 MGNREGA 	
	 (d) 	 National Health Mission (NHM)
	101.	 National Social Assistance Programme does not 

include the following scheme for Below Poverty 
Line households

	 (a) 	 National Family Benefit Scheme
	 (b) 	 Annapurna
	 (c) 	 Mahila Kisan Sashaktikaran Pariyojna 
	 (d) 	 All of the above
	102. 	Who said "India is a Quasi Federal State"?
	 (a) 	 Lord Bryce	 (b) 	Ivor Jannigs
	 (c) 	 H. J. Laski	 (d) 	K. C. Wheare
	103.	 Arrange the following events in a chronological 

order and select the conect answer from the codes 
given below: 

	 I. 	 Maharaja Hari Singh signed the Instrument 
Accession. 

	 II. 	 Constitution of India was enforced. 
	 III. 	 Accession to India ratified by the Sovereign 

Constituent Assembly of Jammu and 
Kashmir.

	 IV. 	 New Constitution of the State of Jammu and 
Kashmir came into force.

		  Codes: 
	 (a) 	 I, III, IV, II	 (b) 	III, IV, I, II 
	 (c) 	 I, II, III, IV	 (d)	 IV, III, II, I
	104. 	Given below are two statements, one is labelled as 

Assertion (a) and the other as Reason (R).
	 	 Assertion (A): The Supreme Court of India has 

exclusive jurisdiction regarding Constitutional 
validity of Central laws.

		  Reason (R): The Supreme Court is the Guardian 
of the Indian Constitution. Select the correct 
answer from the codes given below:

		  Codes:
	 (a) 	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b) 	 Both (A) and (R) are true but (R) is not the 

correct explanation of (A)
	 (c)	 (A) is true, but (R) is false
	 (d)	 (A) 	is false, but (R) is true

100- e”knwj fdlku 'kfDr laxBu (MKSS) uked lkekftd 
vkanksyu] Hkkjr esa fuEu esa ls fdlls lacaf/r gS\

	 (a) 	vkj-Vh-bZ- vf/fu;e

	 (b) 	vkj-Vh-vkbZ- vf/fu;e

	 (c) 	eujsxk (MGNREGA) 

	 (d) 	jk"Vªh; LokLF; fe'ku (NHM)

	101-	jk"Vªh; lkekftd lgk;rk dk;ZØe esa xjhch js•k ls 
uhps ds fy;s fuEu dk;ZØe lfEefyr ugha gS

	 (a)	 jk"Vªh; ifjokj ykHk dk;ZØe

	 (b)	 vUuiw.kkZ

	 (c) 	efgyk fdlku l'kfDrdj.k ifj;kstu

	 (d)	 mijksDr lHkh

	102-	fdlus dgk] Hkkjr ,d v/Z&la?kkRed jkT; gS\

	 (a)	 ykWMZ czkbl	 (b)	 vkboj tSfujt

	 (c) 	,p-ts- ykLdh 	 (d)	 ds-lh- Ogh;j

103] fuEu ?kVukvksa dks dkykuqØe esa O;ofLFkr dhft;s vkSj 
uhps fn;s dwVksa esa ls lgh mÙkj pqfu,%

	 1- 	egkjktk gfj flag us foy; i=k ij gLrk{kj fd,A 

	 II- 	Hkkjr dk lafo/ku ykxw gqvkA

	 III- 	tEew&d'ehj dh çHkqlÙkklaiUu lafo/ku lHkk us 
Hkkjr esa foy; dks vuqeksfnr fd;kA

	 IV-	 tEew rFkk d'ehj jkT; dk u;k lafo/ku ykxw 
gqvkA

	 dwV%
	 (a) 	 I, III, IV, II	 (b) 	III, IV, I, II 
	 (c) 	 I, II, III, IV	 (d)	 IV, III, II, I

	104-	uhps nks dFku fn;s x, gSa ftuesa ,d dks dFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 dFku (A): dsUæh; dkuwuksa dk lkafo/kfud oS/rk ds 
laca/ esa Hkkjr ds lokZsPp U;k;ky; dh vuU; 
vf/dkfjrk gSA

		 dkj.k (R): lokZsPp U;k;ky; Hkkjrh; lafo/ku dk 
laj{kd gSA

	 	uhps fn;s x, dwVksa esa ls lgh mÙkj pqfu,%

	 dwV%

	 (a)	 (A) vkSj (R) nksuksa lgh gSa rFkk (R) dFku (A) 
dh lgh O;k[;k gSA

	 (b)	 (A) vkSj (R) nksuksa lgh gSa ijUrq (R) dFku (A)
dh lgh O;k[;k ugha gSA

	 (c)	 (A) lgh gS] fdarq (R) xyr gS

	 (d)	 (A) xyr gS] fdarq (R) lgh gS
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	105. 	National Panchayati Raj Day in India is celebrated 
on

	 (a) 	 26 January	 (b)	 2 October
	 (c) 	 21 April	 (d) 	24 April
106. 	Which of the following Article was inserted by the 

42nd Constitution Amendment to provide for 
participation of workers in management?

	 (a) 	 Article 38 	 (b) 	Article 39A
	 (c) 	 Article 45	 (d) 	Article 43A
	107.	 What is the legal nature of the Preamble of the 

Constitution?
	 (a) 	 It is enforceable
	 (b) 	 It is not enforceable
	 (c) 	 It may be enforced in special circumstances
	 (d) 	 None of the above
	108.	 Which of the following is correct about the heading 

of the Article 162 of the Constitution of India?
	 (a) 	 Executive Power of State
	 (b) 	 Conditions of Governor's Office 
	 (c) 	 Term of the Office of Governor
	 (d) 	 Extension of Executive Power of State
	109.	 Which of the fallowing temples is also known as 

Khajuraho of Vidarbha?
	 (a) 	 Markandeshwar	 (b) 	Kailash
	 (c) 	 Manudevi	 (d) 	Bhimashankar
	110.	 Match List-I with List-II and select the correct 

answer using the codes given below the lists:
	 	 List-I		  List-II
	 	 (Typhoon/		  (Most
 		  Hurricane August-	 	 affected country) 
		  September 2019)
	 A. 	 Dorian	 1.	 Bahamas
	 B. 	 Hagibis	 2. 	China
	 C. 	 Lekima	 3.	  Jeju, South Korea
	 D. 	 Mitag	 4. 	Japan
		  Codes:
			   A	 B	 C	 D
	 (a)		  1 	 2 	 4	 3
	 (b)		  1 	 4 	 2 	 3
	 (c)		  4 	 2 	 3	 1
	 (d) 		  3 	 4 	 2 	 1
	111.	 In October, 2019 India announced to establish a 

High Commission in which African country?
	 (a) 	 Benin	 (b) 	Gambia
	 (c) 	 Guinia	 (d) 	Sierra Leone

	105-	Hkkjr esa jk"Vªh; iapk;rh jkt fnol euk;k tkrk gSA

	 (a)	 26 tuojh dks 	 (b)	2 vDVwcj dks

	 (c)	 21 vçSy iQks	 (d)	24 vçSy dks

	106- 	42osa lafo/ku la'kks/u }kjk fdl vuqPNsn ds ekè;e 
ls Jfedksa dh çca/u esa Hkkxhnkjh lqfuf'pr dh xbZ\

	 (a) 	vuqPNsn 38	 (b) 	vuqPNsn 30A

	 (c) 	vuqPNsn 45 	 (d) 	vuqPNsn 43A

	107-	lafo/ku dh çLrkouk dk fof/d Lo:i D;k gS\

	 (a)	 ;g ykxw fd;k tk ldrk gS

	 (b)	 ;g ykxw ugha fd;k tk ldrk gS

	 (c)	 fo'ks"k ifjfLFkfr;ksa esa ykxw fd;k tk ldrk gS

	 (d)	 mijksDr esa ls dksbZ ugha

	108-	Hkkjrh; lafo/ku ds vuqPNsn 162 ds 'kh"kZd ds laca/ 
esa fuEu esa dkSu&lk lgh gS\

	 (a) 	jkT; dh dk;Zikfydk 'kfDr

	 (b)	 jkT;iky ds dk;kZy; ds fy;s 'krZ±

	 (c)	 jkT;iky dh inkof/

	 (d)	 jkT; dh dk;Zikfydk 'kfDr dk foLrkj

	109-	fuEufyf•r esa ls fdl eafnj dks fonHkZ ds •tqjkgks ds 
:i esa Hkh tkuk tkrk gS\

	 (a) 	ekdZ.Ms'oj	 (b)	 dSyk'k

	 (c)	 euqnsoh	 (d)	 Hkhek'kadj

	110-	lwph&I dks lwph&II ds lkFk lqesfyr dhft;s vkSj lwfp;ksa 
ds uhps fn;s x, dwV ls lgh mÙkj pqfu,%

	 	 lwph&I		 lwph&II

		  (rwiQku@gfjdsu		 lokZf/d çHkkfor

		  vxLr&flrEcj 2019)		 ns'k)

	 A. 	Mksfj;u	 1- 	cgkekl

	 B- 	gsftchl	 2- 	phu

	 C. 	ysfdek	 3- 	tstw] nf{k.k dksfj;k

	 D- 	feVkx	 4- 	tkiku

		 dwV %
			   A	 B	 C	 D
	 (a)		  1 	 2 	 4	 3
	 (b)		  1 	 4 	 2 	 3
	 (c)		  4 	 2 	 3	 1
	 (d) 		  3 	 4 	 2 	 1

	111-	vDVwcj] 2019 esa Hkkjr us fdl vÚhdh ns'k esa viuk 
mPpk;ksx LFkkfir djus dh ?kks"k.kk dh gS\

	 (a) 	csfuu	 (b) 	xkfEc;k

	 (c) 	xhfu;k	 (d) 	fl,jk fyvksu
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	112. 	Acording to NITI Aayog which of the following 
states is at the top in the India Innovation Index 
2019?

	 (a) 	 Tamil Nadu	 (b) 	Maharashtra
	 (c) 	 Haryana	 (d) 	Karnataka
113. 	The author of the Booker Prize Winner 2019 bonk's 

"Girl, Women, Other" is 
	 (a) 	 Margaret Atwood	 (b)	 Elil Shafak
	 (c) 	 Salman Rushdie	 (d)	 Bernadine Evaristo
	114. 	Whom did PV Sindhu beat to win the first ever 

Gold Medal for India in Women's Single Badminton 
Championship in the final match?

	 (a) 	 Carolina Marin	 (b)	 Tai Tzu Ying
	 (c) 	 Nozomi Okuhara	 (d)	 None of these
	115.	 Which hydropower plant in Bhutan was naugurated 

recently by Indian Prime Minister Narendra Modi
	 (a) 	 Chhukhu Power Plant
	 (b) 	 Dagachhu Power Plant
	 (c) 	 Kurichha Power Plant
	 (d)	 Mungdechhu Power Plant
	116.	 Which among the following was the first 100 

percent organic state in the world?
	 (a) 	 Queensland (Australia)
	 (b) 	 California (United States of America)
	 (c) 	 Sikkim (India)
	 (d) 	 Quebec (Canada)
	117.	 The book 'Venushilpa' by Chitracharya Upendra 

Maharathi relates to which of the following form 
of arts?

	 (a) 	 Jewellery	 (b) 	Painting
	 (c) 	 Bamboo art	 (d)	 Marble curving
	118. 	Para athlete Deepa Malik, who has been awarded 

Rajiv Gandhi Khel Ratna Award 2019, belungs to 
the sport

	 (a) 	 Badminton
	 (b) 	 Discus throw
	 (c) 	 Shot put
	 (d) 	 Weight lifting
	119.	 United Nations Cimate Action Summit 2019 was 

held at which of the following cities?
	 (a) 	 Paris	 (b) 	Geneva
	 (c)	 Doha	 (d) 	New York
	120. 	Use of polished rice in human diet causes the 

following disease
	 (a) 	 Beriberi	 (b) 	Goitre
	 (c) 	 Night blindness	 (d)	 Colour blindness

	112-	uhfr vk;ksx ds vuqlkj Hkkjr esa uokpkj lwpdkad 2019 
esa fuEufyf•r esa ls dkSu&lk jkT; 'kh"kZLFk gS\

	 (a)	 rfeyukMq	 (b)	 egkjk"Vª

	 (c)	 gfj;k.kk	 (d)	 dukZVd

113- cqdj çkbt fotsrk 2019 iqLrd xyZ] ohesu] vanj ds 
ys•d ysf•dk gS

	 (a)	 ekxZjsV vV~xqM 	 (b)	 bfyiQ 'kiQd 

	 (c)	 lyeku j'knh	 (d)	 cjukMhu bZokfjLrks

	114-	fo'o efgyk ,dy cSMfeaVu eqdkcys esa Hkkjr dks igyk 
Lo.kZ ind fnykus ds fy;s- ih-oh- fla/q us iQkbuy eSp 
esa fdldks gjk;k\

	 (a) 	dsjksfyuk ekfju	 (b)	 ykb tw f;ax

	 (c)	 ukstkseh vksdqgkjk	 (d)	 buesa ls dksbZ ugha

	115-	Hkkjrh; ç/kuea=kh ujsaæ eksnh }kjk gky gh esa HkwVku esa 
fdl tyfo|qr ifj;kstuk dk mn~?kkVu fd;k x;k Fkk\

	 (a) 	pqD•k fo|qr ifj;kstuk

	 (b)	 nxk fo|qr ifj;kstuk

	 (c)	 dqfjNk fo|qr ifj;kstuk

	 (d)	 lkax fo|qr ifj;kstuk

	116-	fuEufyf•r esa ls dkSu&lk ,d nqfu;k dk igyk 100 
çfr'kr tSfod jkT; gS\

	 (a) 	DohalySaM (vkLVªsfy;k)

	 (b) 	dSfyiQksfuZ;k (la;qDr jkT; vesfjdk)

	 (c) 	flfDde (Hkkjr)

	 (d) 	D;wcsd (dukMk)

	117-	fp=kkpk;Z misUæ egkjFkh dh iqLrd os.kqf'kYi dk laca/ 
fuEufyf•r esa ls fdl dyk ls gS\

	 (a)	 vkHkw"k.k	 (b)	fp=kdkjh

	 (c)	 ck¡l dyk 	 (d)	laxejej dh uDdk'kh

	118-	iSjk ,FkyhV nhik efyd] ftUgsa o"kZ 2019 dk jktho 
xk¡/h •sy jRu iqjLdkj fn;k x;k gS- fdl •sy ls 
lacaf/r gS\

	 (a) 	cSMfeaVu 	 (b) 	fMLdl Fkzks

	 (c) 	xksyk iQsad	 (d) 	HkkjksÙkksyu  

	119-	la;qDr jk"Vª tyok;q dk;Zokgh lEesyu 20019 dk 
vk;kstu fuEu esa ls fdl 'kgj esa fd;k x;k\

	 (a)	 isfjl 	 (b)	 tsusok

	 (c)	 nksgk	 (c)	 U;w;kWdZ

	120-	ekuo vkgkj esa ikfy'k fd;s gq;s pkoy ds mi;ksx ls 
fuEukafdr jksx gks tkrk gS

	 (a)	 csjhcsjh	 (b)	 ?ksa?kk

	 (c)	 jrkSa/h	 (d)	 o.kk±/rk
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121. 	Which of the following pairs is NOT correctly 
mutched?

	 	 (Vitamin)		  (Rich Source)
	 (a)	 Vitamin B6		  Rice bran
	 (b) 	 Vitamin B2		  Cod-liver oil
	 (c)	 Vitamin E		  Wheat germ oil
	 (d) 	 Vitamin K		  Alfalfa
122.		 Given below are two statements, one abelled us 

Assertion (a) and the other as Reason (R), 
	 	 Assertion (A): Most of the vitamins are not 

synthesised in human body
		  Reason (R): Human organs synthesise only 

essential micronutrients. Thesive only Select the 
correct answer from the codes given below

		  Codes:
	 (a)	 Both (A) and (R) are true and (R) is the 

correct explanation of (A)
	 (b) 	 Both (A) and (R) are true but (R) is not the 

correct explanation of (A)
	 (c)	 (A) is true, but (R) is false
	 (d)	 (A) is false, but (R) is true
123.		 Match List-I with List-II and select the correct 

answer from the codes given below the lists:
		  List-I		  List-II 
	 A.	 Kevlar	 1. 	Explosive
	 B. 	 Taxol	 2. 	Synthetic fibre
	 C. 	 Zinc Phosphide	 3. 	Anticancer drug 
	 D. 	 Nitrocellulose 	 4. 	Rodenticide
		  Codes:
			   A	 B	 C	 D
	 (a) 		  2 	 4 	 3	 1
	 (b) 		  2 	 3 	 4 	 1
	 (c) 		  4 	 3 	 1	 2
	 (d)		  3 	 1	 2	 4
124. 	A sample of any of the following substances | 

disappears after sometime when exposed to air like 
camphor, naphthalene or dry ice. This phenomenon 
is called

	 (a) 	 Sublimation	 (b) 	Evaporation
	 (c) 	 Diffusion	 (d) 	Radiation
	125. 	The phenomenon used in optical fibre for 

transmission of light energy is
	 (a) 	 Total internal reflection
	 (b) 	 Diffraction
	 (c) 	 Scattering
	 (d) 	 Refraction

	121-	fuEufyf•r esa ls dkSu lk ;qXe lgh lqesfyr ugha gS
	 	 (foVkfeu)		 (çpqj Ïksr) 

	 (a)	 foVkfeu B6	 	/ku dh pksdj
	 	 	 	(jkbl czSu)

	 (b)	 foVkfeu B2		  dkWM&;Ñr rsy

	 (c) 	foVkfeu E		  xsgw¡ vadqj rsy

	 (d)	 foVkfeu K	 	,YiQkYiQk

	122- uhps nks dFku fn;s x, gSa ftuesa ,d dks dFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

		 dFku (A): vf/dka'k foVkfeu ekuo 'kjhj esa la'ysf"kr 
ugha fd, tkrs gSaA

		 dkj.k (R): ekuo vax dsoy vfuok;Z lw{e iks"kdks 
dk gh la'ys"k.k djrs gSaA

	 	uhps fn;s x, dwV esa ls lgh mÙkj pqfu,%
	 dwV%

	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R) dFku (A) 
dh lgh O;k[;k gS

	 (b)	 (A) vkSj (R) nksuksa lgh gSa ijUrq (R) dFku (A) 
dh lgh O;k[;k ugha gS

	 (c)	 (A) lgh gS] fdUrq (R) xyr gS

	 (d)	 (A)	 xyr gS] fdUrq (R) lgh gS

	123-	lwph&I dks lwph&II ls lqesfyr dhft;s ,oa lwfp;ksa ds 
uhps fn;s x, dwV ls lgh mÙkj pqfu,

	 	 lwph&I		  lwph&II

	 A- 	dsoykj	 1- 	foLiQksVd

	 B- 	jsDlkWy	 2- 	la'ysf"kr js'kk

	 C. 	ftad iQkLiQkbM	 3- 	dSaljjks/h nok 

	 D- 	ukbVªkslsyqyksl 	 4- 	jksMs.Vuk'kh

	 	dwV%
			   A	 B	 C	 D
	 (a) 		  2 	 4 	 3	 1
	 (b) 		  2 	 3 	 4 	 1
	 (c) 		  4 	 3 	 1	 2
	 (d)		  3 	 1	 2	 4

	124-	fuEufyf•r esa ls fdlh cLrq ds uewus dks gok esa •qyk 
j•us ij dqN le; i'pkr~ xk;c gks tkrk gS tSls diwj 
uSÝFkyhu vFkok 'kq"d ciQZ bl ifj?kVuk dks dgrs gSa

	 (a) 	ÅèoZikru 	 (b)	 ok"ihdj.k

	 (c)	 folj.k	 (d)	fofdj.k

	125-	çdk'k ÅtkZ dk vkWfIVdy iQkbcj esa lapj.k fuEukafdr 
?kVuk ds vuqç;ksx }kjk fd;k tkrk gS

	 (a) 	iw.kZ vkarfjd ijkorZu	 (b) 	foorZu

	 (c) 	çdh.kZu	 (d) 	viorZu
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	126. 	Which of the following statements about enzymes 
isfare correct? 

	 1.	 They are biocatalysts
	 2.	 They perform their action on the site where 

they are produced
		  Select the correct answer from the codes given 

below: 
		  Codes:
	 (a) 	 1 only	 (b) 	2 only 
	 (c) 	 Both 1 and 2	 (d) 	Neither 1 nor 2
	127.	 Mother's milk provides almost complete diet to the 

new-born, but it lacks the following
	 (a) 	 Iron	 (b) 	Calcium
	 (c) 	 Magnesium	 (d)	 Potassium
128. 	Arrange the following substances in chronological 

order of their first synthesis in lab:
	 1. 	 Black gold	 2. 	Fullerene
	 3. 	 Graphene	 4. 	Kevlar
		  Select correct answer from the codes given below:
		  Codes:
	 (a) 		  1 	 2 	 3 	 4
	 (b) 		  4	 2	 3	 1
	 (c) 		  2 	 4 	 3 	 1
	 (d) 		  4	 1	 2	 3
	129.	 Bibliometry is
	 (a) 	 Function of Library Network 
	 (b) 	 Information Management Service
	 (c) 	 Information Management Tool
	 (d) 	 Library Service
	130.	 Which one of the following is associated with 

"Albedo"
	 (a)	 Transmitting power	 (b)	 Absorbing power 
	 (c)	 Emissive power	 (d)	 Reflecting power
131.		 With reference in the Deep Carbon Observatory 

(DCO) which of the following statements is/are 
correct?

	 1.	 It is Global Research Programme to outreach 
role of carbon on earth. 

	 2.	 It conducts field observations of deep 
microbial ecosystem. 

		  Select the correct answer using the codes given 
below 

		  Codes:
	 (a) 	 1 only	 (b)	 2 only
	 (c) 	 Both 1 and 2	 (d) 	Neither 1 nor 2

	126-	,atkbeksa ds lanHkZ esa fuEufyf•r dFkuksa esa ls dkSu&lk 
lgh gS@gSa\

	 1-	 os tSo mRçsjd gSaA

	 2- 	os 'kjhj esa mlh LFkku ij viuk dk;Z djrs gSa 
tgk¡ mRikfnr gksrs gSaA

	 	uhps fn;s gq, dwV ls lgh mÙkj pqfu,%

		 dwV%

	 (a) 	dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2

	127- 	ek¡ dk nw/ uotkr dks yxHkx laiw.kZ vkgr çnku djrk 
gS] fdUrq blesa fuEufyf•r dk vHkko gksrk gS

	 (a)	 ykSg	 (b)	 dSfY'k;e

	 (c) 	eSXuhf'k;e	 (d) 	iksVsf'k;e

	128- fuEufyf•r inkFkks± dks muds igyh ckj ç;ksx'kkyk esa 
la'ys"k.k ds dkyØekuqlkj O;ofLFkr dhft;s%

	 1- 	CySd xksYM	 2- 	iQqysjhu

	 3- 	xzSiQhu	 4- 	dsoykj

	 	uhps fn;s x;s dwV esa ls lgh mÙkj pqfu,

	 	dwV %
	 (a) 		  1 	 2 	 3 	 4
	 (b) 		  4	 2	 3	 1
	 (c) 		  2 	 4 	 3 	 1
	 (d) 		  4	 1	 2	 3

	129-	fccfy;ksesVªh gS

	 (a)	 iqLrdky; usVodZ dk dk;Z

	 (b)	 lwpuk çca/u lsok

	 (c)	 lwpuk çca/u midj.k

	 (d)	 iqLrdky; lsok

	130-	fuEufyf•r esa ls dkSu&lk ,ychMks ls lacaf/r gS

	 (a) 	lapkj 'kfDr	 (b)	 vo'kksf"kr 'kfDr

	 (c)	 mRltZd 'kfDr	 (d)	 okilh dh 'kfDr

	131-	xgjh dkcZu os/'kkyk (Mh-lh-vks-) ds laca/ esa fuEu 

dFkuksa esa ls dkSu&lk lgh gS@gSa\

	 1- 	;g oSf'od vuqla/ku dk;ZØe i`Foh ij dkcZu 

dh Hkwfedk dks vkxs c<+kus ds fy;s gSA

	 2-	 ;g xgjh ekbØksfc;y ikfjfLFkfrdh ra=k ds {ks=kh; 

voyksdu ds fy;s gSA

	 	uhps fn;s x, dwV ls lgh mÙkj pqfu,

	 dwV%

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c) 	1 vkSj 2 nksuksa	 (d)	 u rks 1 vkSj u gh 2
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	132. 	Which of the following is NOT correctly matched?
	 (a) 	 Cartagena Protocol 		  Biosafety
	 (b) 	 Stockholm Convention 		 Persistent organic 
				    pollutant
	 (c) 	 Montreal Protocol		  Ozane layer
	 (d) 	 Kyoto Protocol		  Save water
	133.	 Given below are two statements, one is labelled as 

Assertion (A) and the other as Reason (R).
		  Assertion (A): Maximum number of the species 

of butterflies are found in trop cal countries 
		  Reason (R): Butterflies can not tolerate low 

temperatures. Select the correct answer using the 
codes given beluw Codes:

	 (a) 	 Both (A)	and (R) are true and (R) is the 
correct explanation of (A)

	 (b) 	 Both (A) 	and (R) are true bit (R) is not the 
correct explanation of (A)

	 (c)	 (A) is true but (R) is false
	 (d)	 (A) is false but (R) is true
	134.	 The amount of energy during transfer from anc 

tropic level to another in an ecosystem
	 (a) 	 Increases
	 (b)	 Decreases
	 (c) 	 Remains constant
	 (d)	  May increase or decrease
	135.	 Which of the following is associated with 

biological nitrogen fixation?
	 (a) 	 Red algae	 (b) 	Brown algae
	 (c) 	 Green algae	 (d) 	Blue green algac
	136.	 Smog is essentially caused by the atmospheric 

presence of
	 (a) 	 Oxygen and ozone
	 (b) 	 Ozone and nitrogen
	 (c) 	 Oxygen and nitrogen
	 (d) 	 Oxide of nitrogen and sulphur
	137.	 The Global-500 Award is given for rare achievement 

in which of the following fields? 
	 (a) 	 Gene preservation
	 (b) 	 Environment conservation 
	 (c)	 Population control
	 (d) 	 Pollution contral
	138. 	Black-hole is
	 (a)	 a flight recorder in aeroplane
	 (b)	 a spot on the sun 
	 (c)	 a place in Antarctica
	 (d)	 a collapsed star

	132-	fuEufyf•r esa ls dkSu&lk lgh lqesfyr ugha gS\
	 (a) 	dkVZstsuk çksVksdkWy	 	ck;kslsÝVh

	 (b)	 LVkWdgkse lEesyu	 	vuojr tSfod 
	 	 	 	çnw"kd

	 (c) 	ekUVªh;y çksVksdkWy	 	vkstksu ijr

	 (d)	 D;ksVks çksVksdkWy	 	ty laj{k.k

	133-	uhps nks dFku fn;s x, gSa ftuesa ,d dks dFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA 

	 	dFku (A): m".kdfVca/h; ns'kksa esa frrfy;ksa dh çtkfr;k¡ 
lokZf/d la[;k esa ikbZ tkrh gSA

	 	dkj.k (R)% frrfy;ksa de rkieku esa ugha jg ldrh gSaA
	 	uhps fn;s dwVksa esa ls lgh mÙkj dk p;u dhft;s%
	 	dwV%
	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R) dFku (A) 

dh lgh O;k[;k gS

	 (b)	 (A) vkSj (R) nksuksa lgh gSa ijUrq (R) dFku 
(A) 	dh lgh O;k[;k ugha gS

	 (c)	 (A) lgh gS] fdUrq (R) xyr gS 
	 (d)	 (A)	 xyr gS] fdUrq (R) lgh gS
	134- 	ikfjfLFkfrd ra=k esa ,d iks"kh Lrj ls nwljs iks"kh Lrj esa 

LFkkukUrj.k ls ÅtkZ dh ek=kk
	 (a)	 c<+rh gS
	 (b)	 ?kVrh gS 	
	 (c)	 fLFkj jgrh gS

	 (d) 	c<+ ldrh gS ;k ?kV ldrh gS

	135-	fuEufyf•r esa ls dkSu&lk tSfod ukbVªkstu fu/kZj.k ls 
lacaf/r gS\

	 (a) 	yky 'kSoky	 (b)	 Hkwjk 'kSoky
	 (c)	 gjk 'kSoky	 (d)	 uhyk&gjk 'kSoky
	136- 	/qvk¡ (LekWx) vko';d :i ls ok;qeaMy esa fuEufyf•r 

dh mifLFkfr ds dkj.k gksrk gS
	 (a) 	vkWDlhtu rFkk vks”kksu

	 (b)	 vks”kksu rFkk ukbVªkstu

	 (c)	 vkWDlhtu rFkk ukbVªkstu

	 (d)	 ukbVªkstu rFkk lYiQj ds vkWDlkbM

	137-	fuEufyf•r {ks=kksa esa ls fdlesa nqyZHk miyfC/ ds fy;s 
oSf'od&500 iqjLdkj fn;k tkrk gS\

	 (a) 	thu laj{k.k	 (b)	 i;kZoj.k laj{k.k
	 (c)	 tula[;k fu;a=k.k	 (d)	 çnw"k.k fu;a=k.k
	138- 	';ke&fooj gksrk gSA
	 (a)	 gokbZtgkt dh mM+ku dk vfHkys•d

	 (b) 	lw;Z ij ,d /Cck

	 (c) 	vaVkfVZdk dh ,d txg

	 (d) 	fleV x;k rkjk
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	139. 	The most biodiversity rich area in India is
	 (a) 	 Gangetic plain	 (b) 	Trans Himalayas
	 (c) 	 Western Ghats	 (d)	 Central India
	140. 	Which of the following is a Nodal Institution for 

implementation of Sustainable Development Goals 
in India?

	 (a) 	 Planning Commission 
	 (b) 	 Disinvestment Commission
	 (c) 	 NITI Aayog
	 (d) 	 Finance Commission
	141.	 Arrange the following Committees formed for 

small scale sector in a chronological order and 
select the correct answer from the codes given 
below.

	 I. 	 Nayak Committee
	 II. 	 Abid Hussain Committee
	 III. 	 S.S. Kohli Committee
	 IV. 	 Karve Committee
		  Codes:
	 (a) 	 I, II, IV, III	 (b) 	III, II, I, IV
	 (c) 	 IV, II, I, III	 (d) 	I, II, III, IV
	142. 	Match List-I with List-II and select the correct 

answer using the codes given below the lists:
	 	 List-I		 List-II
		  (Programme)		 (Launch Year)
	 A. 	 National Programme	 1. 	1975 
		  for Control of Blindness 
	 B. 	 Integrated Child 	 2. 	1976
		  Development Scheme
	 C. 	 National Leprosy	 3. 	2005
		  Eradication Programme 
	 D.	 National Rural	 4. 	1983 
		  Health Mission
		  Codes:
			   A	 B	 C	 D
	 (a)		  1 	 2	 3 	 4
	 (b) 		  2 	 4 	 1	  3
	 (c) 		  2 	 1 	 4 	 3
	 (d)		  4	  3	 2	 1
	143.	 Given below are two statements, one is labelled as 

Assertion (A) and the other as Reason (R). 
	 	 Assertion (A): The labour force participation rate 

falling sharply in the recent years for females in 
India.

	 	 Reason (R): The decline in labour force 
participation rate is due to the improved family 
income and increase in education.

	139-	Hkkjr esa lcls vf/d tSofofo/rk laiUu {ks=k gSa

	 (a) 	xaxk dk eSnku	 (b) 	Vªkal fgeky;

	 (c) 	if'peh ?kkV	 (d) 	eè; Hkkjr

	140-	fuEufyf•r esa ls dkSu&lk Hkkjr esa lrr~ fodkl y{;ksa 
ds dk;kZUo;u ds fy;s ,d uksMy laLFkk gS\

	 (a) 	;kstuk vk;ksx	 (b) 	fofuos'k vk;ksx 

	 (c) 	uhfr vk;ksx	 (d) 	foÙk vk;ksx

	 141- y?kq m|ksxksa ds fy;s cuh fuEu lfefr;ksa dks dkykuqØe 
esa O;ofLFkr dhft;s vkSj uhps fn;s gq, dwVksa esa lgh 
mÙkj pqfu,%

	 I- 	uk;d lfefr

	 II- 	vkfcn gqlSu lfefr

	 III- 	,l- ,l- dksgyh lfefr

	 IV.	 dkoZs lfefr

		 dwV %
	 (a) 	 I, II, IV, III	 (b) 	III, II, I, IV

	 (c) 	 IV, II, I, III	 (d) 	I, II, III, IV

142-		lwph&I dks lwph&II ls lqesfyr dhft;s vkSj lwfp;ksa ds 
uhps fn;s x;s dwV ls lgh mÙkj pqfu, %

	 	 lwph&I		 lwph&II 

		  (dk;ZØe)		 (çkjaHk o"kZ)

	 A. 	 va/Ro fu;a=k.k gsrq 	 1- 	1975
	 	 jk"Vªh; dk;ZØe	

	 B- 	lefUor cky 	 2- 	1976
	 	 fodkl ;kstuk

	 C. 	jk"Vªh; dq"B	 3-	 2005 
	 	 fuokj.k dk;ZØe

	 D- 	jk"Vªh; xzkeh.k 	 4-	1983
	 	 LokLF; fe'ku

	 dwV%
			   A	 B	 C	 D
	 (a)		  1 	 2	 3 	 4
	 (b) 		  2 	 4 	 1	  3
	 (c) 		  2 	 1 	 4 	 3
	 (d)		  4	  3	 2	 1

	143-	uhps nks dFku fn;s x, gSa ftuesa ,d dks dFku (A) 
rFkk nwljs dks dkj.k (R) dgk x;k gSA

	 	dFku (A) % gky ds o"kks± esa Hkkjr esa efgykvksa ds fy;s 
Je dh Hkkxhnkjh dh nj esa rsth ls fxjkoV vk;h gSA

	 	dkj.k (R) % ikfjokfjd vk; esa lq/kj ,oa f'k{kk esa 
o`f¼ ds dj.k ls bl Je dh Hkkxhnkjh nj esa fxjkoV 
vk;h gSA 
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		  Select the correct answer from codes given below
		  Codes:
	 (a) 	 Both (A) and (R) are true and (R) is the 

correct explanation of	 (A)
	 (b) 	 Both (A) and (R) are true but (R) is not the 

correct explanation of (A)
	 (c)	 (A) is true, but (R) is false
	 (d)	 (A) is false, but (R) is true.
	144.	 The Dependency Ratio in India is declining 

because
	 (a) 	 Population of 0-14 years is relatively high 
	 (b) 	 Population of 60 years and above is 

relatively high
	 (c) 	 Population of 15-59 years is relatively high 
	 (d) 	 Population of 0-14 years and 60 years and 

above together are relatively high
	145.	 Which of the following Sustainable Development 

Goal (SDG) will target to water availability for all 
and its permanent management upto 2030 in India?

	 (a) 	 SDG-6	 (b) 	SDG-7
	 (c) 	 SDG-8	 (d) 	SDG-9
	146.	 Who has propounded the concept of "Limit to 

Growth?
	 (a) 	 Club of Rome
	 (b) 	 UNESCO
	 (c) 	 Brundtland Commission
	 (d) 	 Agenda 21
	147.	 The number of persons who remained unemployed 

for a major part of the year is called
	 (a)	 Usual status unemployment
	 (b)	 Daily status unemployment
	 (c)	 Weekly status unemployment
	 (d)	 None of the above
148.		 With reference to the Corporate Social 

Responsibility (CSR), which of the statements is/
are correct?

	 1.	 Companies Act 2014, introduces mandatory 
CSR.

	 2.	 Companies covered under this will have to 
spend atleast one percent of their annual 
net-profit in the activities under CSR.

		  Select the correct answer using the codes given 
below:

	 (a) 	 1 Only	 (b) 	2 Only
	 (c) 	 Both 1 and 2	 (d) 	Neither I nor 2

	 	uhps fn;s dwVksa esa ls lgh mÙkj dk p;u dhft;s%
	 	dwV% 
	 (a)	 (A) vkSj (R) nksuksa lgh gSa vkSj (R) dFku (A) 

dh lgh O;k[;k gS

	 (b)	 (A) vkSj (R) nksuksa lgh gSa ijUrq (R) dFku (A) 
dh lgh O;k[;k ugha gS 

	 (c)	 (A) lgh gS] fdUrq (R) xyr gS 

	 (d)	 (A) xyr gS] fdUrq (R) lgh gS

	144-	Hkkjr esa fuHkZjrk vuqikr (Dependency Ratio) ?kV jgk 
gS D;ksafd

	 (a)	 0&14 o"kZ dh tula[;k lkis{kr;k vfèkd gS

	 (b)	 60 o"kZ vkSj vfèkd dh tula[;k lkis{kr;k 
vfèkd gS

	 (c)	 15&59 o"kZ dh tula[;k lkis{kr;k vfèkd gSA

	 (d)	 0&14 o"kZ vkSj 60 o"kZ o vfèkd dh tula[;k 
lkis{kr;k vfèkd gSA

	145-	fuEufyf•r esa ls dkSu&lk lrr~ fodkl y{; (SDG) 
Hkkjr esa 2030 rd lHkh ds fy;s ikuh dh miyC/rk 
vkSj blds LFkk;h çca/u dks yf{kr djsxk\

	 (a)	 ,l Mh th&6	 (b)	 ,l Mh th&7

	 (c)	 ,l Mh th&8	 (d)	 ,l Mh th&9

	146-	lao`f¼ dh lhek dh vo/kj.kk dk çfriknu fdlds 
}kjk fd;k x;k Fkk\

	 (a)	 Dyc vkWiQ jkse	 (b)	 ;wusLdks

	 (c)	 czaVySaM vk;ksx	 (d)	 ,tsaMk 21

	147-	o"kZ ds vf/dka'k fgLls esa csjks”kxkj jgus okys O;fDr;ksa 
dh la[;k dks dgk tkrk gSA

	 (a) 	lkekU; fLFkfr csjks”kxkjh 	

	 (b)	 nSfud fLFkfr csjks”kxkjh

	 (c)	 lkIrkfgd fLFkfr csjks”kxkjh 	

	 (d)	 mijksDr esa ls dksbZ ugha

	148-	dkWjiksjsV lkekftd mÙkjnkf;Ro (CSR) ds lanHkZ esa fuEu 
esa ls dkSu&lk dFku lgh gS@gSa\

	 1- 	daiuh ,DV 2014 us lh- ,l- vkj- dks vfuok;Z 
cuk fn;kA

	 2- 	blds varxZr vkusokyh daifu;ksa dks vius okf"kZd 
'kq¼ ykHk dk ,d çfr'kr lh- ,l- vkj- 
xfrfof/;ksa esa O;; djuk gksxkA

	 	uhps fn;s dwVksa esa ls lgh mÙkj dk p;u dhft;s%
	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 ,oa 2 nksuksa

	 (d)	 u rks vkSj u gh 2
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149. 	Physical Quality of Life Index (PQLI) is developed 
by

	 (a) 	 Morris D. Morris

	 (b) 	 UNDP

	 (c) 	 Mehbub-ul-Haq

	 (d)	 None of the above

150. 	What is the India's rank in the Global Hunger Index 
(GHI) in 2017 ?

	 (a) 	 100th

	 (b)	 101th

	 (c) 	 104th

	 (d	  105th

	149- 	thou dh HkkSfrd xq.koÙkk lwpdkad (ih- D;w- ,y-vkbZ-) 
fdlds }kjk fodflr fd;k x;k gS\

	 (a)	 eksfjl Mh- eksfjl

	 (b)	 ;w-,u-Mh-ih-

	 (c)	 egcwc&my&gd

	 (d)	 mijksDr esa ls dksbZ ugha

	150- 	Hkkjr dk oSf'od Hkw• lwpdkad (th- ,p- vkbZ-) 2017 
esa D;k LFkku gS\

	 (a)	 100ok¡

	 (b)	 101ok¡

	 (c)	 104ok¡

	 (d)	 105ok¡


